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Question Number : 1 Question Id : 54062614488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

RNA, SLD, TJG, ?, VFM
Options :
1. ® Ul
2. % UHJ
3. % UHI
4. % UGJ

Question Number : 1 Question Id : 54062614488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TS 3IehH o T B, o § U Ue g 8| fau U fased & O o 9e! fawed gHg, S 319 H & 1 &R |

RNA, SLD, TJG, ?, VFM
Options :
1. * Ul
2. % UHJ
3. % UHI
4. % UGJ]

Question Number : 2 Question Id : 54062614489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

VLM47, ZGH41, DBC9, ?, LRS49
Options :

1. ¥ HWXS57

2. % HIX41

3. % HXI41

4. ¥ HWX55

Question Number : 2 Question Id : 54062614489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3 foar T B, Ford @ U ue g 21 fau T faswed & ¥ 98 el fased gfe, St 3igehd o T |

VLM47, ZGH41, DBC9, ?, LRS49
Options :

1. ®* HWXS57

2. % HIX41

3. % HXI41



4. ¥ HWXS55

Question Number : 3 Question Id : 54062614490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd letter/letters from the given alternatives.
Options :

1. ¥ GKO

2. % NRV

3. % AEI

4. ¥ BFK

Question Number : 3 Question Id : 54062614490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferfad uy o fau e fased! & 4 faww ser/siarl o1 gl
Options :

1. ® GKO

2. #* NRV

3. # AEI

4. ¥ BFK

Question Number : 4 Question Id : 54062614491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

AS:DX::RK:?
Options :
1. * VQ
2. % UQ
3. ¥ UP



4. = VP

Question Number : 4 Question Id : 54062614491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoRad oy & fou 7o fowed! & @ Sefda sieri &1 gl

AS : DX ::RK:?
Options :
1. % VQ
2. % UQ
3. UP
4. % VP

Question Number : 5 Question Id : 54062614492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a group of letters is given. The letters of each group are related with the letters of the same group by some
Logic/Rule/Relation. From the given alternatives, select a group of letters which follows the same Logic/Rule/Relation.

(AMP, GHW, MCD)
Options :

1. * (LCW, RXD, XSL)
2. % (MKB, SFI, XAP)
3. ¥ (IGT, OBA, UWH)
4. ® (OPQ, UKX, AEE)

Question Number : 5 Question Id : 54062614492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue H, s1erl &1 Ue Wig fear a1 8 | U g & 31&R I THg & 3Rl & a1y forg adb/Mam iy ¥ 9efia §1 e e
fasmedl & I 31&eRT B Uh Y D! gMHT Sl THM dob/aH/AdY BT SRR Sl 51|



(AMP, GHW, MCD)
Options :

1. # (LCW, RXD, XSL)
2. # (MKB, SFI, XAP)
3. ¥ (IGT, OBA, UWH)
4. % (OPQ, UKX, AEE)

Question Number : 6 Question Id : 54062614493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a certain code language, ‘GA + MB’ is written as ‘23°, ‘TO + LK’ is written as ‘58°. What is the code for ‘GR + AZ’ in that code language?

Options :
1. % 48
2. % 57
3. % 47
4.9 52

Question Number : 6 Question Id : 54062614493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fIfR BIS YW H, ‘GA + MB* &1 23 [T SI@1 B, TO + LK &1 *58° [T ST 1 39 BIS UIWI H ‘GR + AZ’ BT HIS HT 62
Options :

1. % 48

2. % 57

3. % 47

4. ¥ 52

Question Number : 7 Question Id : 54062614494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Seven girls A, B, C, D, E, F and G are sitting around a circular table facing towards the centre (not necessarily in the same order). A is third to



the left of G. D is to the immediate left of A. B is second to the left of F. F is not an immediate neighbour of E. Who is sitting third to the left of
C?

Options :
1. % A
2. % E
3.%D
4. ¥ B

Question Number : 7 Question Id : 54062614494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Td @8fdhAl A, B, C, D, E, F U1 G H% B 3R & HRb T JAIBR Hol & 36-11G 931 §5 & (Sl 1] dl S HHAA G| A, G P S
IRTR VMW EI D, A D Rd I 3R 81 B, F P T iR gER ™M R | F, E DI FAbedd TSR Tal 81 C P I 3R R »_F R
B ST g3 87

Options :

1. % A

2. % E

3. %D

4. ¥ B

Question Number : 8 Question Id : 54062614495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Marks of six girls F, L, M, P, R and T are compared. Marks of only two girls are less than P. Marks of R and T are more than P but less than F.
Marks of M are not more than anyone. No two girls obtained same marks. Which of the following statement is correct?

Options :

1. # Marks of L are more than P

2. % If marks of M are 70, then marks of P can be 72
3. % Marks of T are more than R

4. % Marks of two girls are more than R

Question Number : 8 Question Id : 54062614495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

BE ASIBATF, L, M, P, R AU T & 3fch! B qa-1 &1 T 8| Hadl &) Asfbal & 3 PAHH G| R IUT T & 3 P I 3fH § At F A B
g1 M & 3 forelt F oft aiferes 78T 8 | P18 ot &I TSfordl &1 THH 3idh 8! U §U & | Fufoiad & ¥ & 91 Hu 9al 82

Options :

. % L& 3B Py AfUs g

2.« e M & 3fF 70 8, A P & 3ih 72 B Thd §

3. % TH 3B R I AP §

4. % G AUl & b R T B

Question Number : 9 Question Id : 54062614496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five persons P, Q, R, S and T worked in one bank from five banks B1, B2, B3, B4 and B5 (not necessarily in the same order). Each of them were
posted in one location from L1, L2, L3, L4 and L5 (not necessarily in the same order). No two persons worked in same bank and not posted in
same location. No two banks are at same location. R was not working in B3 and B4 and he was not posted in L1 and L5. T was working in B5
and he was not posted in L3 and L5. Q was posted in L2. B2 bank was located in L1. B3 bank was not located in L5. Q was not working in B4. S
was not posted in L3. P was not posted in L4 and L5. Which of the following combination of person, bank, location is correct?

Options :

1. * R, B4,L3
2. % Q,B5,L2
3. S,B4,L5
4, % R,B5, 14

Question Number : 9 Question Id : 54062614496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uie gl P, Q, R, S dUT T H Ui §b1 B1, B2, B3, B4 dUTB5 H ¥ T db | &1H a1 (FRed) 81 fp s pr H 8 I STH A U L1, L2,
L3, L4 TUTLS H Y T RIF WR e o1 (STE] 151 b %1 hH H ) | B+ &1 i THH o & HIF gl BHRd I q JAH RIF R
e T8t 31 PIs 1 <1 §F THE WM R 81 8| R, B3 TUT B4 T HIH o HR 6T YT AYTTE L1 TT L5 T Fgad 781 oTI T, BS H HH I
ET T AT 98 L3 a1 Ls B fgad et o1l Q, L2 W fgad 1| B2 §&% L1 # fRya uTI B3 &, Ls H YT T8 11 Q, B4 T &0 gl & 38T T
S, L3 B fgaa 718l oT| p, L4 GT Ls B Fgad 7! o7 faa, 3, RiF &1 FHafaiad § 3 &1 91 JaieH gt 87

Options :




1. ¥ R, B4, L3
2. % Q,BS5, L2
3.¢S,B4,L5
4. % R, BS, L4

Question Number : 10 Question Id : 54062614497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. Some bike are car.
II. No truck is car.

Conclusions:
I. All truck are bike.
I1. Some car are bike.

Options :

1. # Only conclusion I follows

2. % Only conclusion II follows

3. % Both conclusions I and II follows

4. % Neither conclusion follows

Question Number : 10 Question Id : 54062614497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H feu T Uy H $B HUT 3R I d1e 3T HYAl W 3NURd $2 Fpd 3w mu 7| fou T sy &) 98t 7, 718 3 9 91d axt
I a8 I e U SR iR Freifed &% {3 3T e o 3 fepd, 3T T w2 & 3R W gfaaed g

HhY:
L. $S TP, PR G|

1. B ot °h, IR T B




fsem:
L i e, de® ¢
1. B PR, TEH |

Options :

1. % PHad FHY | SFIER0T el §

2. ¢ I DY 11 SRV BT §

3. % GFI FSHY 1 qT 11 SR Hvd &
4. % I U FIsHY SR T8I HRaT @

Question Number : 11 Question Id : 54062614498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. AIl N are W.
II. NoWisT.

Conclusions:

I. NoTis N.

II. Some W are not T.
III. Some N are T.

Options :

1. ¥ Both conclusions I and III follows
2. # Only conclusion III follows

3. ¥ Both conclusions I and II follows

4. ¥ Neither conclusion follows

Question Number : 11 Question Id : 54062614498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fau U Uy H 8 U 3R I 918 31 HUHI IR ARG & 56y 3T 71U § | 3T 7T H2= & 98t A, =R S8 Qg J1d 9
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hY-:
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fsep:
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L. HSN, TR

Options :

1. % G fISeh 1 T 111 R0 Hd §
2. % Had AHY [11 IR Sl §

3. ¢ QI SR 1 YT 11 3ITERUT R &
4. % I3 Ui FIhy SR T8I HraAT§

Question Number : 12 Question Id : 54062614499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the missing number from the given series.

24,48, 96, 7,384, 768
Options :
1. % 144
2. % 184
3. % 240
4.9 192

Question Number : 12 Question Id : 54062614499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad wer & <1 7 e & 9 g 8fe 1d S|




24,48, 96, 7,384, 768
Options :
1. % 144
2. % 184
3. % 240
4.9 192

Question Number : 13 Question Id : 54062614500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

136, 112, 248, 360, 618, 968
Options :
1. * 112
2. % 968
3. % 248
4. ¥ 618

Question Number : 13 Question Id : 54062614500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3hH foar T 8, Ford ¥ U ug 7T ¢ | 73U 7Y fawed! o 9 39 7Tad g & gHu|

136, 112, 248, 360, 618, 968
Options :
1. % 112
2. % 968
3. % 248
4. ¥ 618

Question Number : 14 Question Id : 54062614501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
How many red are neither shoes nor socks?

Socks
Shoes

N 18

T

5 NGB N\

Red

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.3

2.2

3.5

4.8

Question Number : 14 Question Id : 54062614501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for e T =1 81 5 § 771 81 Hiel 82



\ 18

15 3\9 5}

3 PRIy,
CIC]

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.3

2.2

3.5

4.8

Question Number : 15 Question Id : 54062614502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement(s) is/are correct?



White

Y
Bat i Ball

I. Number of bat which are not white, are 23.
II. Number of ball which are bat, are 17.

Options :

1. ¥ Only I

2. % Only II

3. % BothIand II
4. # Neither I nor II

Question Number : 15 Question Id : 54062614502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU 7T 37 SR & 3MUR W, FNgfafad § 4 o9 91 U 98t 87282



6
8 14 \

i
A9 :
ool i1y

. 98 Il ol hg g 8, P e 23 |
IL. 98 Tig ol cal §, B I 17 8 |
Options :

1. ¥ Had I

2. % Had II

3. % [T gl

4. % 1B

Question Number : 16 Question Id : 54062614503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rohan starts walking in north direction. He turns right and walks x kms. He turns left and walks y kms. He finally rotates by 45° in anticlockwise
direction. In which direction is he facing now?

Options :

1. % South-west
2. # North-east
3. % North-west
4. # South-east

Question Number : 16 Question Id : 54062614503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

e IR = & T 3R AT | I8 St 3R godT € YT x b ). =reta 81 98 o1t ik gear & qun y fob o, g 1 9% sia:
g =M 45° W U ST 8| 3 3B 47 fhd fe=n & g2

Options :

1. % Gf&urufgm

2. % IWR-Yd

3. ¢ JITR- U

4. % g gd

Question Number : 17 Question Id : 54062614504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A is 15 km to the west of B. C is 10 km to the east of K. B is 20 km to the north of K. H is 5 km to the south of C. N is 27 km to the south of A.
How far is K from A and in which direction is H from B?

Options :

1. # 25 km, North-west
2. % 30 km, North-west
3. ¥ 25 km, South-east
4. % 30 km, South-east

Question Number : 17 Question Id : 54062614504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ABIISTHEM uBm AR I kI 10fF M gdARIB, KT 20 b1 SRARI 1, c T s fr 1. RO AR I N, A T 27 fb . o A 7
K A fpaigd R aury, B9 g femm @ g2

Options :

1. % 25 f o, ITR-Uf™
2. % 30 f A, ITR-UFH
3. ¢ 25 [ A, aféorgd
4. % 30 foo 1t aferorgd



Question Number : 18 Question Id : 54062614505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the wrong figure from the given series.

[l = [TTTT]
L|R 1] 1]k L r|k
HE L4 E|T q a1

[ |

Options :

e ¥ g
LA
1. #
AlL
IE
2. % B
11k
Kl
3. H [ 1 T )
'E
411
4.9

Question Number : 18 Question Id : 54062614505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad uy 9, i Tt e & I 7Ted i @ gl

@ = [TTTT]
L|Rr 1] 1]E L r|y
F|J L] E|r q 411

[ |




Options :

-
1| *
LA
1. ®
Al
E 114
2.8 B
1|E
Bl
3‘ u [ 1 T )
(ITTT]
r|K
411
4.

Question Number : 19 Question Id : 54062614506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.

Question figure:

A

Options :




4.

Question Number : 19 Question Id : 54062614506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 7S IR 3pfaal § Q39 IR SNl & g fora & uy enepfa Afga B
PERICAE

A

Options :




3. %

Question Number : 20 Question Id : 54062614507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
By folding the given paper, which of the following cubes can be made?

Options :
1. % Il and 111



2. % Jand IV
3. ®* [IIand IV
4.« Jand I

Question Number : 20 Question Id : 54062614507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T Hr B Hied R, Fafafea § @ &9 3 99 9910 o I6hd ]2

A
K|P
| R
I 1 11 A%
Options :
1. # I dYUTIII
2. % 1dUTIV
3. % I dUTIV
4. ¥ 1dUTII
General Awareness
Group Number : 2
Group Id : 540626475
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20
Is this Group for Examiner? : No

General Awareness

Section Id : 540626649
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626781
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54062614508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Kathakali is associated with

Options :

1. # Uttar Pradesh

2. * Madhya Pradesh

3. % Maharashtra

4. ¥ Kerala

Question Number : 21 Question Id : 54062614508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



HYbAl A&l
Options :

1. % IR UK

2. % YUYW

3. % TERIP

4. ¥ B

Question Number : 22 Question Id : 54062614509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sonam Lochar festival is associated with
Options :

1. ¥ Sikkim

2. % Goa

3. % Kerala

4. % Rajasthan

Question Number : 22 Question Id : 54062614509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TTH AR ARR Y GEfa gl
Options :

1. ¢ fufded

2. % T

3. % PR

4. % SR

Question Number : 23 Question Id : 54062614510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are NOT true in respect of Issuance of currency in India?



I. Coins are minted by the Reserve Bank of India.
II. The Central government is the agent for distribution, issue and handling of coins.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 23 Question Id : 54062614510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafifad Sy=/my § B 9/ YRd § gaT ok 31 & Tee & T8l el 2782

1. HRag froid § gRT Ryads g1l Sd & 1

II. $% WHR Ryah! & faarur, SR} B 3R USfd & &1 Tole g
Options :

1. % Had |

2. % Had Il

3. ¢ 1 AU Gl

4. % QL AT

Question Number : 24 Question Id : 54062614511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is not true about monopolistic competition?
Options :

1. # Number of firms is large

2. # Free entry of firms

3. % Goods produced by them are not homogeneous

4. ¥ The demand curve faced by the firm is perfectly elastic



Question Number : 24 Question Id : 54062614511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifed o ¥ o1 1 By TeTiieR! ufawayf & o o we gl g2
Options :

1. % WA o) WA e g 8

2. % HHl & Ay ¥U Y YA gl &

3. % 3% GRI ITerd avg THEY el 8 &

4. ¥ ®U &1 {7 a5 QUi AEER B e

Question Number : 25 Question Id : 54062614512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is the largest gland in the human body?
Options :

1. # Thyroid

2. # Pituitary

3. ¥ Liver

4. ¥ Thymus

Question Number : 25 Question Id : 54062614512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IRR Bt I TS IR DI I g2
Options :

1. % YIRITS

2. % Ugy

3. ¥ Jopd

4. % YIgHY

Question Number : 26 Question Id : 54062614513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a simple tissue?

I. Xylem
II. Phloem

Options :

1. % Only I

2. % Only II

3. % Both Iand Il
4. ¥ Neither I nor II

Question Number : 26 Question Id : 54062614513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ o9 91 Te IR Hds 82

L. SllgciH

IL. aed
Options :

1. % $ad 1

2. % Had Il

3. % [ QYT gHl
4. GBI

Question Number : 27 Question Id : 54062614514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of mirror — use is correct?

I. Convex — side view mirror
II. Concave — dentist

Options :
1. * Only I



2. % Only II
3.4 BothIand II
4. % Neither [ nor 11

Question Number : 27 Question Id : 54062614514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U] — ST o1 Ffafad 5 9 S 91 HUF It 82

1. 35 — urgf gy
I1. 3{aqd — <d RIS
Options :

1. % Had |

2. % Had Il

3. ¢ 1 AU Gl

4. % qEIIATRIII

Question Number : 28 Question Id : 54062614515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair is correct?

I. Endogenic force — Landslide
II. Exogenic force — Volcano

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 28 Question Id : 54062614515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



o A P T g 9e 82

1. 3foiHd 96 — YRae
1. SfgSid §d - Sararg!
Options :

1. ¥ $had |

2. % Had I

3. % [ qUTI M

4. % qGIIATRIII

Question Number : 29 Question Id : 54062614516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. Air pressure is lowest at sea level.
II. Air always moves from high to low pressure areas.

Options :

1. % Only I

2.9 Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 29 Question Id : 54062614516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefEd & ¥ o9 91 By 981 82

1. 9% ¥R W 91] &19 94l gl o

1. 91 ¥d I I 7 <19 &7 BT 3R T Fra B |
Options :

1. % Had 1

2. ¥ Had I




3. % 1 qYT I aHl
4. % BB I

Question Number : 30 Question Id : 54062614517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a tributary of Indus?

I. Zaskar
II. Nubra
II1. Shyok

Options :

1. % Iand II

2. % Il and III
3. % Tand III

4. 1,1l and 11I

Question Number : 30 Question Id : 54062614517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafifed 3 3 oF @ te Riy 3 Jeme T8 8

L. GI[¥hY

IL &R
11, IH

Options :

1. % 1dYT 11

2. % I dUTIII
3. % 1dYTIII
4. 1 11 dYT 1T

Question Number : 31 Question Id : 54062614518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Where did the Manuscripts were usually written?
Options :

1. ¥ Palm leaf

2. % Stone

3. % Paper

4. % Rock

Question Number : 31 Question Id : 54062614518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Afepy U el uR ford} ot ot
Options :

1. disud

2. % UR

3. % DI

4. % TETS

Question Number : 32 Question Id : 54062614519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where did the first cotton mill was setup in India?
Options :

1. # Hyderabad

2. ¥ Bombay

3. % Madras

4. ¥ Punjab

Question Number : 32 Question Id : 54062614519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA H Ugal geit pus fird wel wiifid gs ot




Options :

1. % gEEIG
2. ¥ TS

3. ® Ha™H
4. % G9d

Question Number : 33 Question Id : 54062614520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year Battle of Buxar took place?
Options :
1. ¥ 1764
2. % 1757
3. % 1863
4, % 1857

Question Number : 33 Question Id : 54062614520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR P ASTs by ay # g5 o
Options :

1. ¥ 1764

2. % 1757

3. % 1863

4, % 1857

Question Number : 34 Question Id : 54062614521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Varuna 2021 naval exercise was held between India and
Options :



1. # Japan
2. ¥ France
3. % Italy

4. % US.A

Question Number : 34 Question Id : 54062614521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X1 2021 AT A YRA AT & oI ol
Options :

1. # S4iq

2. ¥ B

3. % gaa

4. % guyuy

Question Number : 35 Question Id : 54062614522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who won the 2020 Booker Prize?
Options :

1. ¥ Douglas Stuart

2. % Avni Doshi

3. ¥ Maaza Mengiste

4. % Brandon Taylor

Question Number : 35 Question Id : 54062614522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2020 T Feh REPR b & i
Options :

1. ¢ SITeE Iare



2. % 3fgf gref
3. % e AftRe
4. ® TR

Question Number : 36 Question Id : 54062614523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where are the headquarters of UNICEF located?
Options :

1. # Milan

2. # Paris

3. % Geneva

4. ¥ New York

Question Number : 36 Question Id : 54062614523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR &1 JReATerd gl R /2

Options :

1. % fieE
2. % URg
3. % Gl
4. ¥ I

Question Number : 37 Question Id : 54062614524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of schedule — contents of Indian constitution is correct?

I. Third — Allocation of seats in council of states
II. Eighth — Languages

Options :



1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 37 Question Id : 54062614524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR T BT St - sidded o1 Fafifad & @ o a1 gm I8t 32

1. JRIRY — T T H I &1 3HTeie
L. 3{T&dY — HTSTE

Options :

1. % Had |

2. ¥ Had Il

3. % [ QYT ST

4. % qEIIATRIII

Question Number : 38 Question Id : 54062614525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Article 361 of Indian constitution is related to

Options :

1. # Effect of proclamation of emergency

2. ¥ Protection of President, Governor and Rajpramukhs
3. % Proclamation of emergency

4. # Power of parliament to amend the constitution

Question Number : 38 Question Id : 54062614525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR WG BT 3gq 361 J efIa gl



Options :

1. % 3T DI IGIVUT DT THTT

2. ¢ PRI, AT SR ISTTHET BT IREUT
3. % 3O B IGINUN

4. % GfAY BT YRNEYT B Bl J4G DI Yfad

Question Number : 39 Question Id : 54062614526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country hosted the 2018 commonwealth games?
Options :

1. % Canada

2. % Australia

3. # New Zealand

4. # England

Question Number : 39 Question Id : 54062614526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2018 AFHST Well B1 HoTa b a=1 7 1 oo
Options :

1. # DIl

2. ¢ SRCTer

3. % ol

4. % giclg

Question Number : 40 Question Id : 54062614527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of tournament — sports is correct?



I. Ryder Cup — Golf
II. UEFA Champions League — Football

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 40 Question Id : 54062614527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gAfe - wd &1 FafaRad 5 9 &1 91 gw I8l 82

1. U5SY HY — Meth

11.g3UHT A=Y & - Gedra

Options :

1. % Had 1
2. % HAd Il
3. [ QYT ISl
4. % qEIIATE I

Arithmetic Ability

Group Number : 3

Group Id : 540626476
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No



Arithmetic Ability

Section Id : 540626650
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626782
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54062614528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of (1.17)% — (1.13)%?
Options :

1. % 0.92

2.9 0.092

3. % 1.092

4. % 1.92

Question Number : 41 Question Id : 54062614528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(1.17)2 — (1.13)> ST HHF 1 82

Options :

1. % 0.92

2.9 0.092



3. % 1.092
4. % 192

Question Number : 42 Question Id : 54062614529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 1 1 1
What is the value of 5— T—+9—+]]—+]31?
7 3 4 5 6

Options :
029
1.v 20

817
2. % 12

517
5

213
4. % 10

Question Number : 42 Question Id : 54062614529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

s=+72+9L 111l 4q3l F A= Fw
2 4 4 8 g

Options :



029

817

Question Number : 43 Question Id : 54062614530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of 1.2 x 0.24 + 5 x 0.12 x 3.6?
Options :

1. % 24.48

2.9 2448

3. % 1248

4. % 144714

Question Number : 43 Question Id : 54062614530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
12 %024 +5x0.12 x 3.6 BT A R g7
Options :

1. % 2448

2.9 2448

3. % 1248



4. % 144.714

Question Number : 44 Question Id : 54062614531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For what values of M and N 7M5285N is divisible by both 8 and 9?
Options :

1. ¥ (3,6)

2. % (9,6)

3. % (6,6)

4. % (5,3)

Question Number : 44 Question Id : 54062614531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M TYUTN & T AT o feTT 7M5285N, 8 TUT 9 & faHTieId B2
Options :

1. ¥ (3, 6)

2. % (9,6)

3. # (6, 6)

4. % (5,3)

Question Number : 45 Question Id : 54062614532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the fraction among Eii and E is the largest?
kB Sy 19
Options :
3

w11



~1|

Question Number : 45 Question Id : 54062614532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 :
;_i_iﬁmiﬁﬁaﬁﬁmﬁﬁrﬂﬁﬁﬁ?
7 L ES 19
Options :
3

w11

~1| tn

2.¥



Question Number : 46 Question Id : 54062614533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Marked price of an article is Rs. 3400. Selling price of the same article is Rs. 2720. What is the discount percentage?
Options :

1. ® 15

2.¥ 20

3. % 12

4. % 25

Question Number : 46 Question Id : 54062614533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U I PT 3ifohd Yo 3400 T 71 I a¥g &1 faeha Yoo 2720 T § | e UfA=Id 182
Options :

1. % 15

2.9 20

3. % 12

4. % 25

Question Number : 47 Question Id : 54062614534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
385 is what percent of 27507

Options :

1. #= 12

2.9 14

3. % 16

4. % 18

Question Number : 47 Question Id : 54062614534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
385, 2750 BT {11 Ufa=Id 62

Options :

1. % 12

2.¥ 14

3. % 16

4. % 18

Question Number : 48 Question Id : 54062614535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Raju spends 20 percent of his money. He deposits 60 percent of the remaining money in the bank. If Rs. 1120 are remaining with him, then how
much money he had initially?

Options :

1. % Rs. 3400
2. % Rs. 3300
3. ¥ Rs. 3200
4. ¥ Rs. 3500

Question Number : 48 Question Id : 54062614535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3O G-I BT 20 Uf=Td W BT & | 98 AW Y-RIRT BT 60 Uf=Td b & STH HR1 <l & | A 39 UM 1120 ST 9 §U G, ot
WW 3RY T for=T YRRy i

Options :

1. % 3400 >0Y
2. % 3300 39U
3. % 3200 39Y
4. ¥ 3500 3T

Question Number : 49 Question Id : 54062614536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

An article 1s sold for Rs. 1584 at loss of 12 percent. If it is sold for Rs. 2070, then what is the profit percentage?
Options :

1. #® 12

2. % 18

3. % 20

4.9 15

Question Number : 49 Question Id : 54062614536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP I B! 1584 TG HT 12 YA &1 81 TR 991 A1 8 1 TS T/ 2070 $UA T &A1 9, ot ArH UfI=Id o1 82
Options :

1. % 12

2. % 18

3. % 20

4.9 15

Question Number : 50 Question Id : 54062614537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of two numbers is 5 : 9. If the sum of both the numbers is 420, then what is the smaller number among both the numbers?
Options :

1. ¥ 150

2. % 270

3. % 420

4. % 30

Question Number : 50 Question Id : 54062614537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& RT3t T ST 5 : 9 B 1 Af S TReATa BT AT 420 €, Y S TReATat 7 W B T o 82



Options :
1. ¥ 150
2. % 270
3. % 420
4. % 30

Question Number : 51 Question Id : 54062614538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IfP:Q=2:3,Q:R=1:2andR :S=3:4, then what is the value of P: R : S?
Options :

1.% 1:4:4
2. 1:3:4
3.%4:3:1
4. % 3:4:1

Question Number : 51 Question Id : 54062614538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e P:Q=2:3,Q:R=1:2TUR:S=3:4,AP:R:SHIAAFTE?
Options :

I.%1:4:4
2.91:3:4
3.%4:3:1
4. % 3:4:1

Question Number : 52 Question Id : 54062614539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person lent certain sum of money at the annual rate of 12 percent on simple interest and the interest received in 7 years is Rs. 320 less than the
sum lent. What is the sum lent?

Options :



1. ® Rs. 1920
2. % Rs. 2660
3. # Rs. 1800
4. % Rs. 2000

Question Number : 52 Question Id : 54062614539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U Afad fpat AT IR ) 12 ufard &) a1ftfes g3 A YR SO TR IYR ST § dUT 7 I8T H YT fobar a1 <1 IUR < 718 I 3
320 TUY HH g | IUR < 173 AR 182

Options :

1. % 1920 300
2. % 2660 3YY
3. % 1800 39U
4. ¥ 2000 $GY

Question Number : 53 Question Id : 54062614540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A car left 18 minutes early than the scheduled time but in order to reach its destination 102 km away in time, it had to slow its usual speed by 9
km/hr. What is the usual speed of the car?

Options :

1. * 30 km/hr
2. % 60 km/hr
3. #® 45 km/hr
4. # 75 km/hr

Question Number : 53 Question Id : 54062614540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP HR U Feila T ¥ 18 e uga Faradt 8 afes 102 for 1Y, R 3= Tidey ®F R 900 J ugeq & forg I oot gy 1fa o
o fo5 7 /deT Bt Hrt B TS| R B G T 1 32




Options :

1. % 30 foo Hireder
2. ¢ 60 T Hi/dier
3. % 45 fo Hi/der
4. % 70 fop Hi/eder

Question Number : 54 Question Id : 54062614541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. Length of a platform is 800 metres. If a 1200 meter train can cross it in 40 seconds, then speed of train is 180 km/hr.
II. If a car can cover 400 meter in 25 seconds, then the speed of car is 45 km/hr.

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 54 Question Id : 54062614541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefed & ¥ o9 91 By I8 82

1. T WICHhIH B Tl 800 HIe 81 TfS TH 1200 HIe et YS! 3 40 YHUS H UR B Jobd! 5, df YeTe! ot 1fd 180 fb. i /Her gl
1L Tfe T TS} 25 AHUS H 400 Hiex T B Tobdll &, dl Mt 1 11 45 fb it e gl

Options :

1.¥ Hadl
2. % HAd Il
3. % [ QYT ISl
4. % qEIIATE I




Question Number : 55 Question Id : 54062614542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B together can do a work in 8 days. B and C together can do the work in 10 days. C and A together can do the work in 12 days. In how
many days can B alone do the same work?

Options :
120
17

240
17

120
3. 2-"-5 13

240
4 % 13

Question Number : 55 Question Id : 54062614542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AJUBTH B B8 RAA IR TP &I BAUTC I BRI DI 10 T A FR Ihd &1 C TUT A IH B &Y 12 T A P Thd &1 B 3fball
I B B fobda e A r Ipa1 82

Options :
120
17

240

2.{/1?



120

240
4 % 13

Question Number : 56 Question Id : 54062614543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Length of a rectangle is 8 cm more than its breadth. If sum of length and breadth is 32 cm, then what will be the area of rectangle?
Options :

1. ¢ 240 cm?

2. % 48 cm?

3. % 96 cm?

4. % 180 cm?

Question Number : 56 Question Id : 54062614543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3MTId Bl s S9! ez I ¢ T.H1. 3ifdew 71 afe aars qur areTs o1 arT 32 J.H. B, O 3md &1 8% d ol g
Options :

1. ¢ 240 9.1 2

2. % 4892

3. % 96 YAl 2

4. % 180 9.1 2

Question Number : 57 Question Id : 54062614544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Curved surface area of a cylinder is 880 cm?. If height of the cylinder is 10 cm, then what will be the total surface area of cylinder?
Options :

1. % 1532 cm?
2. % 1760 cm?
3.9 2112 cm?
4. % 1872 cm?

Question Number : 57 Question Id : 54062614544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T S0 &1 9 UEIT & 880 T2 §1 f S0 1 GaTs 10 T, B, T 90 BT $dl g1 &A% -1 g1

Options :

1. % 1532 9912
2. % 1760 9.HT2
3.¢ 2112 9.H12
4. % 1872 QA2

Question Number : 58 Question Id : 54062614545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the number of bottles in 9 shops.



Shops | Number ofbottles
76
34
90
120
280
140
460
113
02

~| I Q| D 0w e

Which of the following statement is not correct?

Options :

1. # Average number of bottles in A, B, H and I are 92.5

2. % Ratio of total number of bottles in F and G to the total number of bottles in D and C is 20 : 7
3. ¥ Total number of bottles in E, F, D and I are 612

4. % Number of bottles in D are 14.28 percent less than the number of bottles in F

Question Number : 58 Question Id : 54062614545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 & et arferent 9 gl | Siaal &t e ) Il ]




Sl &r FEaT
76
84
90
120
280
140
460
118
92

Hmmwmt:inm;b%

Froffad & @ 19 a1 By 9e T8t 82

Options :

1. % A, B, HAUT [ H diddl & 3NGd TSI 92.5 8

2. % FAUTG A aidal &1 d TBAT BT D TUT € H Sddl &l Hl TeA T SUTd 20 : 7 8
3. ¥ E F,D YT H SIdall &1 §d T 612 §

4. % DA IIqdl B! T, F H diqal bt GBI 14.28 UfaRd HH &

Question Number : 59 Question Id : 54062614546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The line chart given below shows the number of males in 6 states. Number of males in a particular state and shown as a percentage of total
number of males in all 6 states.



Which of the following statement(s) is/are correct?
I. Number of males in U are 13.33 percent less than the number of males in Q.
II. Ratio of number of males in P to the number of males in T is 5 : 3.

Options :

1. ® Only I

2. % Only I

3. % Both I and II
4. % Neither I nor II

Question Number : 59 Question Id : 54062614546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. % Had Il

3. ¢ 1 UGl

4. % GBI

Question Number : 60 Question Id : 54062614547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the number of chairs in 8 classes.
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Which of the following statement(s) is/are not correct?
I. Number of chairs in B are 29.73 percent more than the number of chairs in F.
II. Average number of chairs per shop are 88.25.

Options :

1. % Only I

2.% Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 60 Question Id : 54062614547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had |
2. ¥ Had Il
3. % [ UGl
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Question Number : 61 Question Id : 54062614548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

With the growing (1)/ expenses, I am not able (2)/ to meet the both ends. (3)/ No error (4)
Options :

1. * With the growing

2. % expenses, | am not able

3. % to meet the both ends.

4. % No error

Question Number : 61 Question Id : 54062614548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

With the growing (1)/ expenses, I am not able (2)/ to meet the both ends. (3)/ No error (4)
Options :

1. # With the growing

2. # expenses, [ am not able

3. % to meet the both ends.

4. % No error

Question Number : 62 Question Id : 54062614549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Modern cities pulsate (1)/ of life, whatever the (2)/ time of the day. (3)/ No error (4)
Options :

1. # Modern cities pulsate

2. % of life, whatever the

3. % time of the day.

4, % No error

Question Number : 62 Question Id : 54062614549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Modern cities pulsate (1)/ of life, whatever the (2)/ time of the day. (3)/ No error (4)
Options :

1. % Modern cities pulsate

2. ¥ of life, whatever the

3. #* time of the day.

4. % No error



Question Number : 63 Question Id : 54062614550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

I am worried; I may be little protected against all these variant.
Options :

1. ¥ less

2. % least

3. % low

4. % No Improvement

Question Number : 63 Question Id : 54062614550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

I am worried; I may be little protected against all these variant.
Options :

1. ¥ less

2. % Jeast

3. % low

4. * No Improvement

Question Number : 64 Question Id : 54062614551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following sentence has been divided into four parts as given in options. Select the option that represents the grammatically erroneous part of
the sentence.

The Department of Commerce(1)/ organised (2)/ a four days seminar (3)/ from 21st March to 24th March. (4)
Options :



1. # The Department of Commerce
2. % a four days seminar

3. % organised

4. # from 21st March to 24th March.

Question Number : 64 Question Id : 54062614551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following sentence has been divided into four parts as given in options. Select the option that represents the grammatically erroneous part of
the sentence.

The Department of Commerce(1)/ organised (2)/ a four days seminar (3)/ from 21st March to 24th March. (4)
Options :

1. ¥ The Department of Commerce

2. % a four days seminar

3. # organised

4. # from 21st March to 24th March.

Question Number : 65 Question Id : 54062614552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Social workers are doing a great job by helping children.
Options :

1. % notorious

2. # greedy

3. % unprivileged

4. ® deficient

Question Number : 65 Question Id : 54062614552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Social workers are doing a great job by helping children.
Options :

1. % notorious

2. % greedy

3. % unprivileged

4. % deficient

Question Number : 66 Question Id : 54062614553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the correct alternative.

The chapter in the science book is related to diseases.
Options :

1. ¥ last

2. % Jeast

3. % rear

4. % older

Question Number : 66 Question Id : 54062614553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the correct alternative.

The chapter in the science book is related to diseases.
Options :

1. ¥ last

2. # least

3. ® rear

4. % older



Question Number : 67 Question Id : 54062614554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

Fair Trade coffee, part of the

P: particularly in the poorer regions of the coffee-growing world, are paid a fair price
Q: ensure that coffee is harvested and processed without child

R: labour and dangerous herbicides and pesticides and that growers and exporters

S: larger Fair Trade movement, arose to

Options :

1. * RPSQ
2. % PSQR
3. ¥ SQRP
4. * RQPS

Question Number : 67 Question Id : 54062614554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

Fair Trade coffee, part of the

P: particularly in the poorer regions of the coffee-growing world, are paid a fair price
Q: ensure that coffee is harvested and processed without child

R: labour and dangerous herbicides and pesticides and that growers and exporters

S: larger Fair Trade movement, arose to

Options :

1. ¥ RPSQ
2. % PSQR
3. ¥ SQRP
4. * RQPS

Question Number : 68 Question Id : 54062614555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Rearrange the parts of the sentence in the correct order.

P: and Great Britain have held sway—notably in
Q: Taiwan, South Korea, the Philippines, and India
R: flourished wherever the United States

S: a local comics industry in native languages has

Options :

1. ¥ SRPQ
2. % SPQR
3. ¥ SRQP
4. % PQSR

Question Number : 68 Question Id : 54062614555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: and Great Britain have held sway—notably in
Q: Taiwan, South Korea, the Philippines, and India
R: flourished wherever the United States

S: a local comics industry in native languages has

Options :

1. ¥ SRPQ
2. % SPQR
3. ¥ SRQP
4. % PQSR

Question Number : 69 Question Id : 54062614556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Bulky
Options :
1. % Soothe



2. % Tender
3. % Enormous
4. % Simplify

Question Number : 69 Question Id : 54062614556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Bulky

Options :

1. # Soothe

2. # Tender

3. % Enormous
4. ® Simplify

Question Number : 70 Question Id : 54062614557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Articulate
Options :

1. # Loquacious
2. # Photogenic
3. % Halting

4. # Voluble

Question Number : 70 Question Id : 54062614557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.



Articulate
Options :

1. # Loquacious
2. # Photogenic
3. ¥ Halting

4. % Voluble

Question Number : 71 Question Id : 54062614558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Straeght

2. % Straight

3. % Straightt

4. % Steraight

Question Number : 71 Question Id : 54062614558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Straeght

2. ¥ Straight

3. % Straightt

4. % Steraight

Question Number : 72 Question Id : 54062614559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given question, four words are given out of which one word is incorrectly spelt. Choose the incorrectly spelt word.
Options :



1. # Hinge
2. % Brussels
3. % Drainage

4. ¥ Comprehansion

Question Number : 72 Question Id : 54062614559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is incorrectly spelt. Choose the incorrectly spelt word.
Options :

1. # Hinge

2. # Brussels

3. % Drainage

4. ¥ Comprehansion

Question Number : 73 Question Id : 54062614560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To cry over split milk

Options :

1. # To be careless

2. ¥ To lament over what cannot be changed
3. % To weep heavily, suddenly

4. # To die during war

Question Number : 73 Question Id : 54062614560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To cry over split milk



Options :

1. # To be careless

2. % To lament over what cannot be changed
3. # To weep heavily, suddenly

4. ® To die during war

Question Number : 74 Question Id : 54062614561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

A bull in a china shop

Options :

1. ¥ A rough and clumsy person where care and skill are needed
2. # To endure the shock of

3. % To make a wrong choice

4. ® To pass a judgment

Question Number : 74 Question Id : 54062614561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

A bull in a china shop

Options :

1. ¥ A rough and clumsy person where care and skill are needed
2. # To endure the shock of

3. % To make a wrong choice

4. % To pass a judgment

Question Number : 75 Question Id : 54062614562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Choose the word that can substitute the given sentence.

A group of applauders i.e. paid to clap
Options :

1. ¥ Claque

2. % Community

3. % Brace

4. % Decorum

Question Number : 75 Question Id : 54062614562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A group of applauders i.e. paid to clap
Options :

1. ¥ Claque

2. % Community

3. ¥ Brace

4. % Decorum

Sub-Section Number : 2
Sub-Section Id : 540626784
Question Shuffling Allowed : Yes

Question Id : 54062614563 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following passage carefully and answer the given questions.

Batten disease, also called Spielmeyer-Vogt-Sjogren-Batten disease or juvenile Batten disease, rare and fatal neurodegenerative disease that
begins in childhood. The disease is named for British physician Frederick Batten, who in 1903 described the cerebral degeneration and macular
changes characteristic of the condition.

Although Batten Disease is usually regarded as the juvenile form of NCL, it has now become the term to describe all forms of NCL. The basic
cause, progression, and the outcome are the same. The forms of NCL are classified by age of onset, and eight different genes [CLN1 — CLNS§]



have been identified as causing the disorder.

Batten disease is among the most commonly occurring of the neuronal ceroid lipofuscinoses (NCLs), a group of inherited lysosomal storage
disorders, the primary feature of which is progressive neurodegeneration with cognitive decline, loss of motor ability, worsening seizures, and
early death.

Batten disease manifests in childhood, typically between ages 4 and 10 years. One of the earliest symptoms is vision impairment, which is
followed by a regression in development, often characterized initially by a loss of previously acquired speech skills and an inability to learn new
skills.

As the disease progresses, the affected individual experiences a further loss of communication skills as well as a loss of motor function, causing
slow and stiff movements and difficulty walking. Recurrent seizures, disordered sleep, cardiovascular problems, and behavioral problems also
emerge. Affected individuals typically survive only into late adolescence or early adulthood.

Sub questions

Question Number : 76 Question Id : 54062614564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be the suitable title for the given passage?
Options :

1. # Batten disease

2. ¥ Batten disease and its course

3. % Characteristics of Batten disease

4. ¥ Symptoms of Batten disease

Question Number : 77 Question Id : 54062614565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the given passage, at which age Batten disease manifests in children?
Options :

1. # 4 years

2. # 10 years

3. % 4 years and 10 years

4. ¥ Between ages 4 and 10 years.

Question Number : 78 Question Id : 54062614566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is NOT the symptom of the Batten disease?
Options :

1. # Vision impairment

2. % Cardiovascular problems

3. # Loss of voluntary function

4. ¥ Orderly sleep

Question Number : 79 Question Id : 54062614567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following word best expresses the antonym of ‘progression’?
Options :

1. ¥ Relapse

2. % Attainment

3. % Advance

4. ® Nexus

Question Number : 80 Question Id : 54062614568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is true according to the given passage?
Options :

1. ® Person suffering from this disease has a tendency to survive in old age.
2. % Batten disease mostly begins at the age above 14 years.

3. % The forms of NCL are classified into eight different genes.

4. ® Batten Disease is usually regarded as the traditional form of NCL.

Question Id : 54062614563 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following passage carefully and answer the given questions.

Batten disease, also called Spielmeyer-Vogt-Sjogren-Batten disease or juvenile Batten disease, rare and fatal neurodegenerative disease that



begins in childhood. The disease is named for British physician Frederick Batten, who in 1903 described the cerebral degeneration and macular
changes characteristic of the condition.

Although Batten Disease is usually regarded as the juvenile form of NCL, it has now become the term to describe all forms of NCL. The basic
cause, progression, and the outcome are the same. The forms of NCL are classified by age of onset, and eight different genes [CLN1 — CLNS]
have been identified as causing the disorder.

Batten disease is among the most commonly occurring of the neuronal ceroid lipofuscinoses (NCLs), a group of inherited lysosomal storage
disorders, the primary feature of which is progressive neurodegeneration with cognitive decline, loss of motor ability, worsening seizures, and
early death.

Batten disease manifests in childhood, typically between ages 4 and 10 years. One of the earliest symptoms is vision impairment, which is
followed by a regression in development, often characterized initially by a loss of previously acquired speech skills and an inability to learn new
skills.

As the disease progresses, the affected individual experiences a further loss of communication skills as well as a loss of motor function, causing
slow and stiff movements and difficulty walking. Recurrent seizures, disordered sleep, cardiovascular problems, and behavioral problems also
emerge. Affected individuals typically survive only into late adolescence or early adulthood.

Sub questions

Question Number : 76 Question Id : 54062614564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be the suitable title for the given passage?
Options :

1. # Batten disease

2. ¥ Batten disease and its course

3. % Characteristics of Batten disease

4. ¥ Symptoms of Batten disease

Question Number : 77 Question Id : 54062614565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the given passage, at which age Batten disease manifests in children?
Options :

1. # 4 years

2. # 10 years

3. % 4 years and 10 years

4. ¥ Between ages 4 and 10 years.



Question Number : 78 Question Id : 54062614566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT the symptom of the Batten disease?
Options :

1. # Vision impairment

2. # Cardiovascular problems

3. % Loss of voluntary function

4. % Orderly sleep

Question Number : 79 Question Id : 54062614567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following word best expresses the antonym of ‘progression’?
Options :

1. ¢ Relapse

2. % Attainment

3. # Advance

4. ¥ Nexus

Question Number : 80 Question Id : 54062614568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is true according to the given passage?
Options :

1. # Person suffering from this disease has a tendency to survive in old age.
2. % Batten disease mostly begins at the age above 14 years.

3. % The forms of NCL are classified into eight different genes.

4. % Batten Disease is usually regarded as the traditional form of NCL.
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2. % oA +39
3. % 3 + ¥
4. % I+ AN

Question Number : 81 Question Id : 54062614569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu T wrec) @ Y faye 3T S|

[SISNIRS
Options :

1. % 34+ A1
2. % I + 39
3.9 3 + o™
4. % Y+

Question Number : 82 Question Id : 54062614570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T U Rl & Sfeptes foha 1 PifoTg |
Options :

1. ® &1

2. ¥ AT

3. % §HT

4. % fergit

Question Number : 82 Question Id : 54062614570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. % ST
2. AR
3. % T
4. % fora

Question Number : 83 Question Id : 54062614571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Jeydgd

2. % Harg® fhar-farivo
3. ¢ AU D

4. % gRHATUEMES fehar-fa=ivo

Question Number : 83 Question Id : 54062614571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % dyared

2. % ¥Farg® fhar-fariy

3. ¢ GHAYYD

4. % gRAERS fhar-farivo
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Options :
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Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 85 Question Id : 54062614573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T Tse o1 yaiaarE Wee F1d S|
g

Options :
1. % dH

2. % TRY
3. % gRd

4.« dodX

Question Number : 86 Question Id : 54062614574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 86 Question Id : 54062614574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. % yrida
2. % gidT
3. % Pl

4. ¥ U A

Question Number : 87 Question Id : 54062614575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3

2. % HIYA

3.9 AHYA

4, % 3qgxl

Question Number : 87 Question Id : 54062614575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau U Trec B g g BT T HifvTU
Options :

1. % 3

2. % JHIYA

3.9 YA

4. % 3qgxl

Question Number : 88 Question Id : 54062614576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
P T Vet AT &Y 82
Options :

1. % oA



2. % YeRIgC
3. % foan
4.« gAdE

Question Number : 88 Question Id : 54062614576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DI T eg; TlfeiT ol 87

Options :

1. % Bl

2. # Ydilgc

3. % o

4.« Jcdl-

Question Number : 89 Question Id : 54062614577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I 1 Ueg Thdd 82

Options :

1. ¢ UMl

2. % TR

3. % 3

4. % feEaTOy

Question Number : 89 Question Id : 54062614577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DI 1 Ued Thaa g2

Options :

1. ¢ O

2. %




3. % 3
4. % fiEEor

Question Number : 90 Question Id : 54062614578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRad ol o ¥ Y a1 &1 999 DIl |
Options :

1. % 3R, 98 B M|

2. ¢/ 3R 98 B N

3. % 3R, 91 e M|

4. % 3R A HH T

Question Number : 90 Question Id : 54062614578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiRed ol ® A s 1 BT T8 Bifoid |
Options :

1. % 3R, 98 D 3|

2. ¥ 3R 98 e AW

3. % 3R, 91 M|

4. % 3R YDA

Question Number : 91 Question Id : 54062614579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad areil & 9 Tgad are J1d BT

Options :

1. % 91 gred 9 gl I1e gl
2. % O g1ed T8l e B |
3. ¢ U1 O1eT el ), fg e g |




4, % U7 91e0 el ¢ ifb 98 A 5|

Question Number : 91 Question Id : 54062614579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferRad areRil & 9§ Tgod d1e J1d B
Options :

1. % O 97 7 GIR WY g |

2. % T 1&g e Qe g

3. ¢ U1 1 T8 @, fobeg WTEA B

4. % U1 g1ey 16T § T a8 WA g

Question Number : 92 Question Id : 54062614580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T arR & Iuged favmw fag &1 994 pifo |
AT 10 12 S0 1 Wpd | UgH & ol daR &R fern

Options :
L® 1]
2‘ o<
3.¢¥ —

4. % -

Question Number : 92 Question Id : 54062614580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T arR & Iuged favm fag &1 9g4 pifo |
AT 10 12 S 1 W d | UgH & ol daR &R fern

Options :
1. % []




Z-H(ﬁ
3.¥ —
4. % -

Question Number : 93 Question Id : 54062614581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU 7T are T Iuged favm forg &1 =994 Fifom|
I 7 ARER ol I SUSR & U § o fear

Options :

1. ¢ UYdlddh
2. % goffoR™
3. % 3fcufaR™H
4. % G

Question Number : 93 Question Id : 54062614581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U a1y & Iuged form fag &1 o= Fifor|
gl A AReR Sl Dl JUR & & H 7 fgan

Options :

1. ¢ JYddd
2. % guifoR™
3. % 3fcUfd™
4. % JGIRH

Question Number : 94 Question Id : 54062614582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & fou U aR fAwedl § 9, 39 fawed &1 999 o S fau 70 GgTak & 3 &1 a9§ ¥ ¥ oad Rl 5|




3R &1 % U
Options :

1. % grad ORI Al
2. % fRIPR DAl

3. % S = ST

4. ¢ AT BT HAT

Question Number : 94 Question Id : 54062614582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu o IR fawedl & 9, 39 faded o1 oo 3 ot f3T 7T geTer & 31 &1 a9y ¥U ¥ oJad HRal g |

R BT I U
Options :

1. % BIa IR &Rl
2. % fOREPR DA

3. % g A

4. 3G BT HRAT

Question Number : 95 Question Id : 54062614583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue ), fou U IR fawedl & ¥, 39 fadmen &1 997 & 1 fou U geTark & 31 ol Ya9% U § odad Rl ¢ |
ST R gHT =T

Options :

1. % IHGE A g
2. % Yg Fer

3. % YW TGl

4. ¢ TSI W HA]




Question Number : 95 Question Id : 54062614583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad ue ), fou U IR faweal & ¥, 39 fadmen &1 7997 & 51 fou U geTak & 31 ol Ya9% U § oJad Rl ¢ |
ST R g iR

Options :

1. % IHGE A g

2. % g Qe

3. % YW Gl

4. ¢ Fld YR hRAI

Sub-Section Number : 2

Sub-Section Id : 540626786
Question Shuffling Allowed : Yes

Question Id : 54062614584 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

frafaRad e & eFyde ue SR R M Uy & I S|

%W%q@'ﬁﬁmw@m?{l TToRTd %1 Sfdgr S9a! Jd TRTHIT 2000 T QR § T8 H 7T 1Tl § b HITaT oor T Blgan

2 & Ui dc IR o 99, S GRS A aRIgR Heard| §1¢ & aui # i, W, UAeR dUT 37 3 ASIaR = 3 TR U ol
foraT| AT (et STl BT ARG ToRTd | U 3R T8 &1 T 41| 3ol ¥ Ugd ToRTd &1 da &5 T8 U J &l Yl &
T UT- U fafesr &7 3R gy 3 Rumad | Iregt & Gifod & RO IR & o4l 3R Hed & HEIMA TS & 1Y T4 fafewr Torma
DI T fguTS Ja2 I9 &1 T3+ §3MT| U8 73, 1960 T G oRTd 59 Sidd W 11T | ToRTd &1 8% ATHT 196,024 ¥
foraieR g | HeTe et 3R aeaHYUTS Ue ol HRA & ds UG iaadl & Y 811 & HRUT 3 S & Wi idd AR TRIRE
faRTd 980 U9 & 3R U Iod H1 7Rd dgTdl ¢ | ORI HUN, da1% MR HTHe b1 SdIe- B+ ardl o2 &1 T W AT ¢ | T8l &1 3
He@yul 94! B o- SHEE, M, Tg 3R SoRT| Iod B YddTg ofd adT YETd ofd gRT $d RIS &dl 64.88 TRI gaIR ! T §
o TRER TR (FHaT) TRTSHT &1 17.92 TR §aCAR & 8 | T 7 97 2010 T% $dl Ri9Tg &HdT 31.65 TR 3R ddb Ugd s |
S 2010 T EHaH JUTRT &HT 23.79 TR FICIR HTeb! 715 |

Sub questions

Question Number : 96 Question Id : 54062614585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

ToRTd ford de IR fRya 82
Options :

1. % Gf&oft ac

Question Number : 97 Question Id : 54062614586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ORI I STRKTd | hdl ST U1
Options :

1. % 2010

2. % 1960

3. % 2001

4, % 1910

Question Number : 98 Question Id : 54062614587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIS ¥ U d ToRTd &1 & U ¥ fovcd= U H il 17 412
Options :

1.3

2. % U

3. % IR

4. % dH

Question Number : 99 Question Id : 54062614588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TORTd BT 3fgr faH QR 82
Options :

1. % TETHAT 5000 STt

2. ® TIHIT 2500 ST

3. % TATHIT 3000 ST

4. ¢ TIHIT 2000 39T

Question Number : 100 Question Id : 54062614589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST TR BT IUGHRT b T G2
Options :

1. ¢ TORTd $ Tepid 3R forma

2. % TSI3{] BT ATEADBI

3. % qUfg H1gn

4. % JRURSD faRTEd

Question Id : 54062614584 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

frafeRad T & eryde ue SR fRu M Uy & IR S|

YR & Uit de R fRUT § | ORI &1 3fAeT 39at d TIHT 2000 T4 GRHT g T8 ) HTHT ST 8 {6 HTa 07 TRT Bleaw

C & U dc IR 7 59, Sl gR&T A YARGR Hedrd]| 16 & a8 § A1, T, UfdgR quT 37 3 oA - 39 Te= IR I[ef
foraT | ITqa (et o3 &1 MG ToiRTd H W 3R THG &1 i UT| 3o ¥ Ugd ToRTd &1 aadT &5 I3 &9 9§ & Y #
et oT- U fafewr &7 3k gt 3ft fearad | Irsat & Yo & oRUT QRIS & A4l 3R o & ho=Miyd USR & 91y gd fafewr R
D! T fgUTS Jas 9 &1 1641 g3 U8t 3, 1960 B aad oRTd 159 SHdd T 31T | ToRTd T 8% ATHT 196,024 T
framieR g1 FRTe el 3R aeaHUTS Ued Sl HRA & & UG afadqdl & Y 817 & BRI 3 ST P JRpiad 3R IRUR®
foRTId 980 T9< § SR I o9 &1 71Rd 9gKi1 ¢ | ToRTd HUN, daTd 3R HIThel! 6T UG B aTdl o= &1 Y@ AT § | Tgi &1 3
He@qUl el HUd o- ST, YT, T 3R SToRT| 59 H Ydog STd 94T YERTd STd gRT $d RidTs &HdT 64.88 AR §a¢dR ! T §
R TRER TR (FHaT) TRESHT Y 17.92 TR §aeTR &HdT 8 | I H §F 2010 T% $dl RiATg &HdT 31.65 TRI gaeIR ddb Ugd s Y|
S 2010 AP TABTH IUTNT &HAT 23.79 TRI gae R 3! T3 |

Sub questions




Question Number : 96 Question Id : 54062614585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TToRTd fh g de )R fRya g2

Options :

1. % gfemft e

2. ® JTRIde

Question Number : 97 Question Id : 54062614586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ORI T TR § D T U2
Options :

1. # 2010

2. % 1960

3. % 2001

4. % 1910

Question Number : 98 Question Id : 54062614587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S{TSITE! ¥ U5 ToRTd &I G- U ¥ fobd= YW T ST 717 412
Options :

.Y

2. % U™

3. % dR

4. % dH

Question Number : 99 Question Id : 54062614588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

ToRTd &1 3fder fooaH @RI 82
Options :

1. % TIYIT 5000 39T

2. ® TIHIT 2500 SaT

3. % THI 3000 ST

4. & TETHIT 2000 ST

Question Number : 100 Question Id : 54062614589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR BT IUGad MNP FT G
Options :

1. ¥ TORTd &1 Wi 3R faRmad

2. % (SIS BT AMABTA

3. % O BIY

4. % URUN® fovrd
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Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54062614590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When an Indian citizen works temporarily in Canada, his production will be part of
Options :

1. % Canada’s GNP

2. ¥ India’s GNP

3. # (Canada’s NNP

4. # India’s GDP

Question Number : 101 Question Id : 54062614590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I U YR ARG HATST H SRR 0 J ST dRdl 8, Al STBI1 IAGT PTG gl
Options :

1. % HSI P Sil. T UI.

2. YRd & Sil. T, 1.

3. % HASI & T TA. UL,

4. % YRd & S, 81 Ui,




Question Number : 102 Question Id : 54062614591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Net Domestic Product (NDP) is calculated using which of the following formulas?
Options :

1. ¥ GDP + Depreciation

2. % GNP + Depreciation

3. ¥ GDP — Depreciation

4. ¥ GNP — Depreciation

Question Number : 102 Question Id : 54062614591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e TR IedTe (T, ST, UT.) Bt 70T Faferad # 9 fobd T3 1 SUGNT b bl Oilel! 62
Options :

1. % St SI. Ut + geagr

2. % Sfl. . 01, + Heug ™

3. ¢ ofl. S 4. - gg™

4. % St T, 41, - g™

Question Number : 103 Question Id : 54062614592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Technically, national income is also called
Options :

1. % NDP at factor cost

2. % GDP at market price

3. ¥ NNP at factor cost

4. ¥ GNP at market price



Question Number : 103 Question Id : 54062614592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

APIPI U, AT B eI ST g
Options :

1. ¥ HRD ANTG W T, 3. UT.

2. % §OR HIFd WSt 1. 1.

3. ¢ R AN IR TH. T, 1.

4. % SIOR HIFd WS T, W,

Question Number : 104 Question Id : 54062614593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the national income accounts, depreciation is called the:
Options :

1. #® Injection of real income

2. ¥ Consumption of fixed capital

3. # Variable component of commerce

4. ® Leakages in capital investment

Question Number : 104 Question Id : 54062614593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS 31T F R T, YeIgT B! Bl Sl o
Options :

1. ¥ JRAMdD 3T Fold BT

2. ¥ 3 Yuit bl Gud

3. % IRy &1 URTd-Ig gedh

4. % Uot o= o st

Question Number : 105 Question Id : 54062614594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is considered to be a better measure of economic well-being?
Options :

1. ¥ Real GDP

2. # Potential GDP

3. % Nominal GDP

4. ¥ Base GDP

Question Number : 105 Question Id : 54062614594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & 3 5 anfie e &1 Ue SgdR ATUS AFT SiIdT 82
Options :

1. ¢ Jdfdp Sit. St O,

2. % gyifad Sit. St O,

3. % Hifge oft. . .

4, % 3MYR Gl ST I,

Question Number : 106 Question Id : 54062614595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who generates the mixed income?
Options :

1. # Social entrepreneurs

2. ¥ Non-corporate enterprises

3. # Government owned companies

4. % Quasi-corporate group of enterprises

Question Number : 106 Question Id : 54062614595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fafya o frge gRT SO &1 Sirdl 82

Options :

1. % TSI IUhH

2. ¢ IR-BIARCT IUHH

3. % PR & WA dTelt Ha-ai
4. % IEA BT HS-DIARC THG

Question Number : 107 Question Id : 54062614596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following purposes is served by the income method of national income estimation?
Options :

1. # It is useful in planning allocation of resources.

2. % It predicts total remuneration available to an employee.

3. ¥ It is useful in planning the reduction of inequalities.

4. % [t indicates the potential of raising the standard of living in the future.

Question Number : 107 Question Id : 54062614596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEfIRed & O D9 91 IE=a AP ST STHH B 31 e gRT g1 fosa S g2
Options :

1. % g8 G & 3fde Pt Ao g § Iganf ]

2. % U8 TP HHAR! B U H UTRYTHD BT HiTSIaTo w1 |

3. ¢ g AT &1 HH H P A1 9914 H ST g |

4. % Ug 4oy H Sfig TR & FW IS B &A1 B SR1d HaT

Question Number : 108 Question Id : 54062614597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which of the following conditions, inflation rate remains constant?



Options :

1. ¥ When GDP is more than GNP.

2. % When natural real GDP is less than actual real GDP.
3. ¥ When natural real GDP is equal to actual real GDP.
4. ® When actual real GDP is less than natural real GDP.

Question Number : 108 Question Id : 54062614597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad o 9 fou fRufa & garmifd &t e RR IEd 82

Options :

1. % Sq St S d S . ¥ el 8|

2. % q UTdide dRadfde oil. S1.Ul. Tagsid dRdfde® siieidl § 9 1|
3. ¢ S Wbl IRdfdd Sit.S1.UT. Tagsid IRdfddh Sitedt & JrHT gl |
4. % §q U3Id] aIdidah St S1.Ul. Ui dRdide Sieidl § $H gl

Question Number : 109 Question Id : 54062614598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT one of the components of GDP?
Options :

1. # Consumption

2. # Government purchases

3. % Net exports

4. ¥ Expenditure

Question Number : 109 Question Id : 54062614598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foffed # 3 oI 1St SLdl. & gl § A Te Tl 82

Options :



1. % JUHAT

2. % AR TG
3. % faga fafd
4. ¢ Y

Question Number : 110 Question Id : 54062614599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Net value added at factor cost (NVAy,) equals to:

Options :

1. #® Net value added at market price (NVAp,) — Subsidies + Indirect taxes
2. % Gross value added at market price (GVAp,,) + Subsidies — Indirect taxes
3. ¥ Net value added at market price (NVAp,) — Indirect taxes + Subsidies

4. # Gross value added at market price (GVAp,,) — Subsidies + Indirect taxes

Question Number : 110 Question Id : 54062614599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P AT UR faa Geaafdid (NVA,) frads I &:

Options :

1. % STSIR Hed TR e Geaaftid (NVA ) — ST + ST BT
2. % TSR Hed W Hebel Hedidd (GVA ) + SUGH — 3L B
3. ¢ SSIR Hed R e Geuafdid (NVA ) — 3108 $ + I
4. % SIOIR e IR FHe el (GVA,,) — SUGH + 3T PR

Question Number : 111 Question Id : 54062614600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is/are correct regarding personal income?



I. It is the income that households and non-corporate businesses receive.
I1. It does not include sales tax and other corporate income taxes in the evaluation.
II1. Personal income includes the interest income that households receive from their holdings of government debt.

Options :

1. # Iand II

2. % Il and III
3. % Only III
4. 1,11 and 11T

Question Number : 111 Question Id : 54062614600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JufdTe 3 & eu § Fufeied § € o1 91/8 sy I 8782

1. I8 98 319 ¢ S RI 3R TR-BTURCT e &) Ut gt 2

I1. 3% i | faeh! #x 3R 3= HIURET 3T HR A T8l 8id 8|

111, SR 31§ I8 SATST 3T XM Bt @ ol URARI b1 TRBRT FHUT D1 (U BIIST I U giell g |
Options :

1. % 1qdUTII

2. % T dUTIII

3. % SHad I

4. 1,11 QYT 11

Question Number : 112 Question Id : 54062614601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Given below are two statements. One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A): Child care provided in day-care centre is part of GDP.
Reason (R): GDP uses market prices to value goods and services and excludes the value of almost everything that takes place outside markets.

In the context of the above two statements, which of the following option is correct?
Options :

1. % (A) is correct, but (R) is incorrect.



2. % (A) is incorrect, but (R) is correct.
3. % Both (A) and (R) are correct and (R) explains (A).
4. % Both (A) and (R) are incorrect.

Question Number : 112 Question Id : 54062614601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

F2 G By AU T § | T I 31l (A) 3R TR B BRI (R) & ¥ H A fobar T g |

AfHBYT (A): S-FW T A UYSH B S aTel 91 ST ot St . 1 fear g
W%i_?;wﬁm‘rao‘rWaﬁ&ﬁ 3R Tar3ft & e & forT FHxcll § SR STOIRT & 18R 814 aTel! TRTHT &R Aol o ok Bl
RIIEK |

I & HYAl & G 7, Fufeiad & § o a1 fawen g8t 82
Options :

1. % (A) ¥g! g, A (R) T |

2. % (A) TT0d §, Wb (R) I8! G

3. ¥ THI (A) T (R) T8T € 3R (R), (A) DI ARHAT HRAT ¢ |

4. % (A) 3R (R) T TAd B |

Question Number : 113 Question Id : 54062614602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For a particular year, the nominal GDP of India is 14,500 and real GDP is 5,000. What will be the value of GDP deflator?
Options :

1. # 190

2. % 290

3. % 195

4. % 185

Question Number : 113 Question Id : 54062614602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T faR a9 & forg, WRd &1 Hifeds oSt 14,500 B SR IRafas Si.E1UT. 5,000 1 STSIUY S{oEhifdd &1 T T g1
Options :

1. # 190

2. % 290

3. % 195

4. % 185

Question Number : 114 Question Id : 54062614603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When Marginal Propensity to consume and Marginal Propensity to save are added, then it gives
Options :

1. ¥ value equal to 1

2. % anegative value

3. % value more than 1

4, % zero value

Question Number : 114 Question Id : 54062614603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o Wi ITHNT Ugfa auT ad A & forg Jirid sad vgRI S ST oiar s, a8 edrgl
Options :

1. ¥ 1 % SRIR HqH

2. # U BUMHD HIH

3. % 19 3% g

4, % R[YHMH

Question Number : 115 Question Id : 54062614604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The total personal income that households receive consists of the income created from production and



Options :

1. # total expenditure on final product

2. # private domestic investment

3. % transfer payments from the government

4. % consumption expenditures

Question Number : 115 Question Id : 54062614604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRER} & U 819 aTell $of dufddd A A IACT A S At ST 3R WA g g
Options :

1. % 3ifdH IUIE R pdl Y

2. # sl oRe o=

3.¢ HQOPR@H‘MH SR

4. % IUHNT Y

Question Number : 116 Question Id : 54062614605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following results due to the decrease in Marginal Propensity to save?
Options :

1. % Increase in tax value

2. % Higher multiplier value

3. #¥ Decrease in tax value

4. ¥ Lower multiplier value

Question Number : 116 Question Id : 54062614605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hid sad Ughl d§ HH & SR FEfaRad 3 9 & 31 gikomg gidl 82

Options :



1. % ROA H gfa
2.« TG U A
3. % PR T Bl
4. % UG gH

Question Number : 117 Question Id : 54062614606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements regarding LM curve is NOT correct?
Options :

1. # An increase in the price level will shift the LM curve to the left.

2. % The LM curve is drawn for a fixed real supply of money.

3. % On the LM curve the demand for money equals the supply of money.
4. ¥ The LM curve shifts to the left when the money supply increases.

Question Number : 117 Question Id : 54062614606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

LM % & T o Fraferiad o 9 o o1 wu= T8t T8t 82

Options :

1. % T WR § TP glg TA.UH. Th B! S1¢ RIFIRT HR i |

2. % TA.UH. 9% H&1 &1 U FYd aRafasd fd & fae aR fear mang |
3. % TA.UH. 9 UR GaT HiT J&T Gfcd o ITHHE 8l gl

4.« 98 U &1 Yfed 9¢ Sl ¢ al U0 TH. I a1 3R WM 8 SIa g |

Question Number : 118 Question Id : 54062614607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to New Keynesian economists, which of the following factors does NOT cause sticky prices?
Options :

1. # Aggregate demand externalities



2. * Menu costs
3. # Coordination failure

4. ¥ Consumption expenditure

Question Number : 118 Question Id : 54062614607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g BT srfenfREl & raR, Fufifad & ¥ $1F I $R [P STt &7 SR T el 22
Options :

1. % FHY HT & &gl BRI

2. % T ANTd

3. % Uy fathardr

4. JUHITT Y

Question Number : 119 Question Id : 54062614608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A family has an income of Rs. 8000 and spends Rs. 4000 on consumption. What will be the value of Average propensity consumption?
Options :

1. %2

2.%0.5

3. % 0.025

4. % 15

Question Number : 119 Question Id : 54062614608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TH URAR P 3T 8000 TYY § TUT 4000 TTY 9T HRT § | Sd STHNT Ty 7 &1 82

Options :
1. %2
2.90.5




3. % 0.025
4. % 1.5

Question Number : 120 Question Id : 54062614609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which treasury bill replaced the 91-day tap treasury bill in 1997?
Options :

1. % 270-day ITB

2. % 182-day ITB

3. ¥ 14-day ITB

4, % 3]-day ITB

Question Number : 120 Question Id : 54062614609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1997 # fp e Sort ford 7 91-Gawia <U Rl ford &t o718 o it

Options :
1. # 270- fdadiig ITB
2. % 182- faadig 1TB
3. ¥ 14 feadig 1B
4. % 31-feadiF ITB

Discipline2
Group Number : 7
Group Id : 540626480
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No

Edit Attended Group? : No



Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline2

Section Id : 540626654

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 540626788

Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 54062614610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Moral suasion is one of the techniques of
Options :

1. #* regulating banks

2. % monetary control

3. # reserving cash

4. # controlling inflation

Question Number : 121 Question Id : 54062614610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ARE gueH D IBDH HATH



Options :

1. % dpl ol fafafid &
2. ¢ Wife iz

3. % Jhe 49g

4. % TETERR @) Frfid B

Question Number : 122 Question Id : 54062614611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following implies that the bond is valued at discount?
Options :

1. ¥ coupon rate < discount rate

2. # value of the bond > par value

3. # coupon rate > discount rate

4. ® value of the bond = par value

Question Number : 122 Question Id : 54062614611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad & 2 frae e ais &1 goie- fSee R fhar ST 22
Options :

1. ¥ U R < S R

2. % S8 BT YU > IR JI

3. % U R > [SHRET R

4. % §18 B I = IR JAI

Question Number : 123 Question Id : 54062614612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following correctly expresses ‘Nominal Interest Rate’?
Options :



1. #® Expected Inflation Rate + Real Interest Rate
2. ¥ Real Interest Rate + Expected Inflation Rate
3. # Expected Inflation Rate x Real Interest Rate
4. ® Real Interest Rate — Expected Inflation Rate

Question Number : 123 Question Id : 54062614612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed & & oF Hifcs e &) $I 951 ©U 9 ad &l 67
Options :

1. % SUfEd JERWITd &R + IRdAfdD S &R

2. ¢ qRATdD TS & + SHUTET GERIfd &

3. % JUfEd I &R x dRdfdeh SISl X

4. % AP TS G — SUTEd I &R

Question Number : 124 Question Id : 54062614613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Minimum reserves each bank must hold to customer deposits is called as
Options :

1. ¥ Cash Reserve Ratio

2. # Liquidity Adjustment Facility

3. #® Statutory Liquidity Ratio

4. ® Reverse Repo Rate

Question Number : 124 Question Id : 54062614613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP S Pl AEH| ] STHRIRA! o fo1e gAdH SRferd ol HET o g |
Options :

1. ¢ Tohal SRI&d e srgurd




2. % FAMY JarSH gfaun
3. % Hifdfde T U
4. % REUd IR

Question Number : 125 Question Id : 54062614614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following was the first stock exchange in India to introduce screen-based automated ring less trading system?
Options :

1. # National Stock Exchange of India

2. # Bombay Stock Exchange

3. ¥ Over-the-Counter Exchange of India

4. # Ahmedabad Stock Exchange Limited

Question Number : 125 Question Id : 54062614614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THI YR Tdrerd R o ST RieH = & a1ell R b1 Ugell Kidb Tarpalol Haferfad & J 1= a1 Ur?
Options :

1. % M Wi Tl 3 SiSal

2. % §iid Kb TFTdel

3. ¢ ARG B3R Lol 3P sfSal

4. % JEHAEIG WKdh THads faffics

Question Number : 126 Question Id : 54062614615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following formulas is used to calculate return on assets?
Options :

1. ® Operating profit/ total assets

2. % Interest paid on deposit/ total asset ratio



3. ¥ Net profit/ total asset ratio

4. ® Interest income/total assets

Question Number : 126 Question Id : 54062614615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfufadl iR fawa @ 7o & forg Fafeied & 9 forg 9 o1 SuainT fosar Sirar g2
Options :

1. % TRITA ATy S gReataal

2. % S IR gHAT T o)/ Hd URATT! SUTd

3. ¢ faq a1y $a uiRafadr sgua

4. % SIS 3T/ S uRgferr

Question Number : 127 Question Id : 54062614616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following correctly expresses the valuation ratio ‘Yield’?
Options :

1. # (Dividend — price change) / Initial price

2. ¥ (Dividend + price change) / Initial price

3. ® (Dividend / price change) + Initial price

4. ® (Dividend / price change) — Initial price

Question Number : 127 Question Id : 54062614616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e # A B HedichT 3IUTd dies' D1 AGT &1 Y o DRl 57
Options :

1. % (QTHIRT - Jeg URda) / IRMYS Jed

2. (TTHIRT + Jd uRacdH) / TRMY® e

3. % (QTHIRT/ Yo URaeH) + IR Jed




4, ® (@Y / I URadH) - IRMNS Jed

Question Number : 128 Question Id : 54062614617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT one of the functions of SEBI?
Options :

1. #® To prohibit insider trading in securities.

2. % To regulate the business in stock exchanges.

3. # To protect the interest of investors in securities.

4. ¥ To review national trade policies.

Question Number : 128 Question Id : 54062614617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad o @ &9 a1 et (SEBI) & BT J T T 82
Options :

1. % Rfeier o s sy <fEm ot fdsiferd s & fom|
2. % Wb TaRiioll H oUTUR ! faafid o & forg|

3. % Ryt § fawrepl & fRcl 1 26 B

4. ¢ BT AR T BT FH&T AT

Question Number : 129 Question Id : 54062614618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is/are correct regarding Financial leverage?

I. Financial leverage reduces earnings per share (EPS) and return on equity (ROE) when the return on assets is less than the cost of debt.
II. Financial leverage raises the variability or volatility of both EPS and ROE.
III. Financial leverage can have both positive and negative effects.

Options :
1. % Tand II



2. % Only III
3. % [land I
4. % LI and I

Question Number : 129 Question Id : 54062614618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forita Saier & Ty & Fufiied & 9 o 918 sy I8 8782

%@Hmuﬁrw\mq@‘mw.) 3R B W UfIhd (3R.313.) B HH ST § 9 IRIYURIE W ufdwmd B0 &) ard d HH
|
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Options :

.= Iddl

2. % ohad III
3. % I dUT I
4, LI dUT 11T

Question Number : 130 Question Id : 54062614619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suppose XYZ Ltd. paid a dividend of Rs. 4.00 per share for the last year. The dividend is expected to grow at the rate of 5 percent per year
thereafter. If the required rate is 15 percent, then what will be the value per share?

Options :

1. ¥ Rs. 42
2. % Rs. 47.11
3. % Rs. 21

4. % Rs. 38

Question Number : 130 Question Id : 54062614619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A Aifore XYz faffies = fUsd av & AT 4.00 ¥ Ui AR & ATHIRT &1 YT [hdT | S TYT ATHIRT Ui 9 5 Tia=Id &1 ax ¥ dgA
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Options :

1. v 4230
2. % 47.11 399
3.% 2130
4. % 33309

Question Number : 131 Question Id : 54062614620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following categories of stocks and their capitalisation is/are correctly matched?

I. Large Cap Stocks - More than Rs. 1000 crore
II. Mid Cap Stocks - Rs. 500 crore to Rs. 1000 crore
III. Small Cap Stocks - Less than Rs. 20 crore

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. Only I

2. Il and III

3.Tand II

4.1, II and III

Question Number : 131 Question Id : 54062614620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed # § o9 I 90 & Tl SR I UsiihRur Te! JAferd 8/8?
. @ISt b U Wb - 1000 BIS 3UY Y 3B




11. TS HU Wi - 3T 500 HRAS T BT 1000 HAS

[11. ¥ $Y Wi - 20 PG TUY T HH
Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. had I

2. T dYT 11

3.1dYTII

4.1, IT dYTIII

Question Number : 132 Question Id : 54062614621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year, IMF began its financial operations?
Options :

1. ¥ 1947

2. % 1945

3. % 1944

4. % 1950

Question Number : 132 Question Id : 54062614621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IMF = {9 au o 3o fa<ita Sarem e fean
Options :

1. % 1947

2. % 1945

3. % 1944

4. % 1950



Question Number : 133 Question Id : 54062614622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The opportunity cost theory of international trade was given by
Options :

1. # Adam Smith

2. ¥ Gottfried Haberler

3. ¥ David Ricardo

4. % Jacob Viner

Question Number : 133 Question Id : 54062614622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRIPI ATUR BT ST AN Rigid ERUCRIRIRIR

Options :

1. % TsH (Y

2. ¢ TCHISS BaeR
3. % Sfgs Rare!

4. % Jovd faR

Question Number : 134 Question Id : 54062614623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Intra-industry trade is dominant in
Options :

1. # South-north trade

2. # South-south trade

3. % North-north trade

4. ¥ East-West trade

Question Number : 134 Question Id : 54062614623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
JMIIANMIOR AU E gl
Options :

1. % G- AMUR

2. % Cf&ur-gférr R

3. ¥ JTR-3IR AMUR

4. ® U4.Ufgm SAUR

Question Number : 135 Question Id : 54062614624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given expression represents the ‘National output (Y) of a country’. What does ‘M’ represent in this expression?

Y=C+I+E+X-M
Options :

1. % Exports

2. # Domestic investment

3. ¥ Government expenditure

4. ¥ Imports

Question Number : 135 Question Id : 54062614624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TS Sifiyeafar feht <=1 & AT ITeH (Y)' BT UG Pl ¢ | 39 ol § 'M' T Gl 82

Y=C+I+E+X-M
Options :

1. ® fyafq

2. % TR [

3. % WDHRI AT
4.« AHId



Question Number : 136 Question Id : 54062614625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year, the GATT was expanded to form the WTO?
Options :

1. % 1947

2. % 1990

3.9 1995

4, % 1985

Question Number : 136 Question Id : 54062614625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&g, . 3. (WTO) §H & fau oft. T & &, (GATT) &1 foaR forw af & foam am U
Options :

1. % 1947

2. % 1990

3. %1995

4. % 1985

Question Number : 137 Question Id : 54062614626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Payment of interest on loans and dividend payments are recorded in which of the following components of balance of payments?
Options :

1. # Official reserves account

2. ¥ Current account

3. % Unilateral transfers account

4. % Capital account

Question Number : 137 Question Id : 54062614626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

F0T TR SHTST BT YA 3R ATHIRT YT BI SR idad o Hafeiad & ¥ food ged o gof favar ST g2
Options :

1. % 3ff¥ehd SRI& T

2. ¢ T @l

3. % gMciexd gXAiaR Ul drdl

4. % Yot @rar

Question Number : 138 Question Id : 54062614627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the tariff on a product in a country is 10 percent, it means that the government charges customs duty at the:
Options :

1. ® rate less than 10 percent of the price

2. ® rate more than 10 percent of the price

3. # rate of 5 percent of the price

4. ¥ rate of 10 percent of the price

Question Number : 138 Question Id : 54062614627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e foret <=1 7 forlt IadTe TR SR 10 Uia=id 8, 1 SUHT Adad ¢ [ TRBR AT Yodb I 6:
Options :

. % HHAIP 10 URA I PAR Y

2. % HIAJ P 10 U= T 3fd R I

3. % HIAd D 5 UAAd PR

4.¥ PEASD 10 U P R T

Question Number : 139 Question Id : 54062614628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In which of the following condition a country has a comparative advantage in producing a good 'A’?
Options :

1. ® If the overall cost of production of other competitive product is lower at home.

2. ¥ If the opportunity cost of producing good 'A' is lower at home than in the other country.

3. # If the overall cost of producing good 'A' is higher at home than another country.

4. ® If the opportunity cost of competitive product ‘B’ is higher at home than in the other country.

Question Number : 139 Question Id : 54062614628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoied & 9 fora fRufa & foslt <1 &1 U o '@ STeH o’ H JaTTetd AT &Il g2
Options :

1. % gfe W W 3= ufaegdf a¥g & IdTe- &1 $d ANTd HH G|
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3. % g a¥g T & IdTG B AR AN SR G- P ga-T H IR TR 3 g |

4. % g fauRid axg &Y D1 AR ANTA GER o= B ga-T H R W HF g |

Question Number : 140 Question Id : 54062614629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following currencies is NOT used to set the (Special Drawing Right) SDR value?
Options :

1. ¥ US Dollar

2. % Pound Sterling

3. # Japanese Yen

4. ¥ Russian Ruble

Question Number : 140 Question Id : 54062614629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements states the correct assumption of H-O model?
Options :

1. # There are artificial barriers to trade.

2. % There is no transport cost.

3. # Factor supply is not fixed for each country.

4. ® Factors of production are immobile within each country.

Question Number : 141 Question Id : 54062614630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafead & § ®F 91 %Y H-0 HISd B Ya! YRUN §dIdT &2
Options :

1. % R & U HHH e g

2. ¢ s URagd ad el g

3. % TP < & o R S FAfa 781 81

4. % TP oV & HioR IdTeT & HRP RR B &

Question Number : 142 Question Id : 54062614631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10 units of labour is used to produce one unit of good A in country X and 20 units of labour is used to produce one unit of good A in country Y.
The unit of labour is reversed for both country X and Y to produce one unit of good B. Which of the following statement(s) is/are definitely
correct?

I. Country Y has an absolute advantage in producing good A.
II. Country X has an absolute advantage in producing good A.
1. Either Country X or Country Y has an absolute advantage in producing both products.

Options :

1. % Il and 111
2.% Only II
3. % Tand II



4. % Only III

Question Number : 142 Question Id : 54062614631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® IIdYUTIII
2. ¥ HAd I

3.% IdUTID

4. % Had 111

Question Number : 143 Question Id : 54062614632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In country A, supply of labour and supply of capital is 25 units and 20 units respectively. In country B, it is 12 units and 15 units respectively.
Considering the H-O model of international trade, which country is richly endowed with capital and what is its capital-labour ratio?

Options :

1. ¥ Country B, 1.25
2. % Country A, 0.8
3. * Country B, 0.8
4. % Country A, 1.25

Question Number : 143 Question Id : 54062614632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ GRIB, 1.25

2. % QYA 08

3. % GRB, 0.8

4. % YA, 1.25

Question Number : 144 Question Id : 54062614633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following scenarios does NOT violate the basic principles in the area of trade in goods in the WTO?

Options :

1. ®¥ A member can give lower tariff on a product to a country as a reward for receiving some aid or investment from that country.

2. ¥ Developing countries may get special benefits from other countries and they may have special arrangements among themselves without
others getting the benefits.

3. % A member can ask for a particular packaging for an imported product even if it does not ask for similar packaging for a like domestic
product.

4. % Two countries or a group of countries cannot form regional trading arrangement among themselves and extend lower tariffs to one another.

Question Number : 144 Question Id : 54062614633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefed o @ o9 a1 uRexg ss, <. o, & axqsit & omuR & &7 § g Rigidl &1 g 8! #ar g2

Options :

1. % T Yo fpdl T q $2 JeTadT a1 9% U &4 & ol RIBR & 0 H il 321 o1 ITg R HH RE ¢ a1 gl

2. ¢ faeToRTa =N &1 3 <=1 I TI=IY a1y A7 qhdT 8 SR G¥RI &1 oy 3T fomT 9 Sy  faRie a1 R Ihd € |
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4. % 31 T AT G BT JHE MUY H &1 IR TaRT Tl 91 Ihdl & 3R U gL b fo7 HH ¢ P fawdR Tl R Thd gl

Question Number : 145 Question Id : 54062614634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct regarding classical linear regression model?

I. Regressors are assumed to be non random.
II. Regression coefficients are assumed to be fixed numbers.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 145 Question Id : 54062614634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FATRIS A IR R digd & JeH & &9 a1 g8t g2

L. RN &) A S0 AFT ST ] |

1. UM e &1 Ffd S AF S g
Options :

1. % $Had |

2. % Had II

3. ¢ 1 AUT I A

4. % A IAE I

Question Number : 146 Question Id : 54062614635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Confirmation or refutation of economic theories on the basis of sample evidence is based on a branch of statistical theory known as
Options :

1. ¥ statistical inference

2. # statistical postulates

3. % statistical proofs

4. # statistical interpretation



Question Number : 146 Question Id : 54062614635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THAT &G & YR W Hies Rigicl o1 gfY a1 W wifsraty Rigid &1 (e IR W uiRag ol FeT S gl
Options :

1. ¢ iRk g 3HH

2. % HiRHADIY THYROT

3. ® iRsIep1g yAT

4. % GiRSHADY fader

Question Number : 147 Question Id : 54062614636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are correct regarding the linear regression model?

I. The regression model is linear in the parameters, though it may or may not be linear in the variables.
II. The variance of the error, or disturbance term is the same regardless of the value of X.

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. ® Neither I nor II

Question Number : 147 Question Id : 54062614636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. % FHadl
2. % HAd I
3. ¢ [ QYT I gl
4. % 1B

Question Number : 148 Question Id : 54062614637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct about the standard error of regression?
Options :

Question Number : 148 Question Id : 54062614637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WSS TR 31 RATA & Jeu # Fafeiiad 7 J &1 a1 381 8



Options :

Question Number : 149 Question Id : 54062614638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a property of OLS estimator under the normality assumption (ui follows the normal distribution)?

I. OLS estimators are unbiased.
II. OLS estimators have minimum variance.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 149 Question Id : 54062614638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafofed # § @19 Tfd 4RO & T8d OLS SITHTHE &1 [0 § (ui T (S IgRM &1 SR Hdl §)?

1. OLS 3fFHF e €|
I1. OLS 3{THM®! &1 gAqH f[daRuI grar g
Options :

1. % PHadl
2. % Had Il
3. 1AUT ISl
4. % 1B

Question Number : 150 Question Id : 54062614639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct regarding the Interval estimation?

I. o — confidence coefficient
II. (1 — a) — level of significance

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 150 Question Id : 54062614639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. % FHadl
2. % Had Il
3. % [QUT I gl
4. IR

Question Number : 151 Question Id : 54062614640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Cobb—Dougles production function is given by Y; = BIXEJ?XE?E“]'. Which of the following is correct?

l. X5 = Labour input
Il. X3 = Capital input

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. % Neither I nor I

Question Number : 151 Question Id : 54062614640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ha-SIET SealeA Bere § Y, = B, X0 X D eui Srmfafaa # & al ar wd 82

. X;= ol 59
I.X; = Shitcel 39
Options :

1. % Had 1

2. % Had Il

3. ¢ 1 UGl

4. % qEIIATE I



Question Number : 152 Question Id : 54062614641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a factor of multi-collinearity?

I. Data collection method employed
II. Constraint on the model

Options :

1. * OnlyI

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 152 Question Id : 54062614641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad & 9 S Ac)- i 3iel BT HR® g2
1. HRRA P T8 Sl 9UE fafdr

1. ATSd R J1ed]
Options :

1. % Had |
2. % Had Il
3. ¢ 1 AU Gl
4. % qEIIATR I

Question Number : 153 Question Id : 54062614642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a test to detect heteroscedasticity?

I. Park Test
II. Glejser Test
III. Goldfeld—Quandt Test



Options :

1. ® Tand II

2. % Il and III
3. % TandIII

4. % 1, 1I and III

Question Number : 153 Question Id : 54062614642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffefad & ¥ o g p T Rt &1 udl & & foft te e 82

L. O X

I1. TASRR ¢

1. MEHeS-HIgT K
Options :

1. ® [T

2. ® [IAYTIII

3. % QYT

4. 1 11 dYT 1T

Question Number : 154 Question Id : 54062614643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct regarding model specification errors?

I. Underfitting a model — omitting relevant variables
II. Overfitting a model — including unnecessary variables

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II



Question Number : 154 Question Id : 54062614643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A WRAfthb I Ffedl & Teu # Fafiiad # Q &1 a1 38l 8

1. AISd @I ®H ihT - IId W DI SISl
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Options :

1. % Had 1

2. % Had Il

3. ¢ 1 UGl
4. % GBI

Question Number : 155 Question Id : 54062614644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following methods is an orderly arrangement of data in columns and rows?
Options :

1. % Tabulation

2. % C(lassification

3. # Editing

4. ® Coding

Question Number : 155 Question Id : 54062614644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol & 3 o @ fafd siad ok A # SeT o gafRyd $dl g2
Options :

1. ¢ GRUHT

2. % giffeul

3. % gUIed



4. ® HIFST

Question Number : 156 Question Id : 54062614645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pictorial techniques uses a cartoon format?
Options :

1. # Thematic apperception test

2. # Tomkins-Horn picture arrangement test

3. # Holtzman inkblot test

4. ¥ Rosenzweig test

Question Number : 156 Question Id : 54062614645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad 7 @ o1 I Reee db-1d BT URNT BT STUNT B! 82
Options :

1. % JiAfes TRIwRE ¢

2. % THfhY-gH MR SRWHE ¢

3. % Blecoli SPhsilc oXe

4. ¢ JAJTHAT ¢

Question Number : 157 Question Id : 54062614646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following formula was suggested by H.A. Sturges to determine the size of class interval while preparing data?
Options :

1. % i=R/(1 —3.3 log N)

2. % =R x (1+3.3 log N)

3. ¥ i=R/(1+3.3 log N)

4, % i=R x (1 —3.3logN)



Question Number : 157 Question Id : 54062614646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR $d IHT SR & a7 ! (HUiRd a3 & g wa.u. it A fafoied o 9 for 3 o1 ggima foan i um
Options :

1. #* i=R/(1 — 3.3 log N)

2. % =R x (1+3.3 log N)

3. % i=R/(1+3.3 log N)

4. % =R x(1-331logN)

Question Number : 158 Question Id : 54062614647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many printed cards of inkblots are used in the Rorschach test?
Options :

1. % 45

2.%10

3. % 20

4. % 32

Question Number : 158 Question Id : 54062614647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g I1e0T H Shedicd & fha- Gisd dle SUanT fahl IIrd 82
Options :

1. % 45

2.¥10

3. % 20

4. % 32

Question Number : 159 Question Id : 54062614648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT one of the demerits of data collection through questionnaires?
Options :

1. #® This method is slower in comparison to the other available methods.

2. % It can only be used for educated and cooperative respondents.

3. % There is a possibility of ambiguous replies.

4. ¥ The cost increases as the number of respondent increases.

Question Number : 159 Question Id : 54062614648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e § & B gsTach & ATerd T ST JUE F STl H I U el 82
Options :

1. % Tg fafYy o Iuasy faftrt &t gamn & ¢t g

2. % IPHT IYIN Had RAfET 3R TgbpR! Jarerarsii & fore forar S gwar g1
3. % 3RUY IR B UG B |

4. ¢ JIRaTAIS B WS T W Jod dgdT g |

Question Number : 160 Question Id : 54062614649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a data adjusting method?
Options :

1. # Weight-assigning

2. # Scale Transformation

3. % Variable respecification

4. ¥ Field editing

Question Number : 160 Question Id : 54062614649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ge-3gfH

2. % Whd CIBIARHA

3. % gRugd JURmisH
4. ¢ ics Tfefdm
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Question Number : 161 Question Id : 54062614650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is/are correct regarding the collection of secondary data?

I. Secondary data may either be published data or unpublished data.
II. Public records and historical documents act as a secondary data.
III. Secondary data can never be unsuitable or inadequate for a given problem.

Options :

1.¥ Tand II

2. % Only III
3. % ITand III
4. % [, 1l and III

Question Number : 161 Question Id : 54062614650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. 1dUT Il

2. % ohad III
3. % I dUT I
4, % [, I dYT I

Question Number : 162 Question Id : 54062614651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In monopsony, there is



Options :

1. # One seller
2. % One buyer
3. # Many seller
4. ¥ Many buyer

Question Number : 162 Question Id : 54062614651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AHEd gl

Options :

1. % Uehl fdshdl

2. ¥ Thd TRIGR

3. % &3 fadhdl

4. % P TUGR

Question Number : 163 Question Id : 54062614652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pollution by a firm in the course of its production which causes nuisance or harm to others is an example of
Options :

1. % Positive Externalities

2. % Technological externalities

3. ¥ Negative Externality

4. # Tragedy of the commons

Question Number : 163 Question Id : 54062614652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. % JHRIHD JIRIATE
2. % gp-iep! dTRIad
3. ¢ THRIHD AT
4. % g B! A

Question Number : 164 Question Id : 54062614653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following can be denoted as ‘Benthamite welfare function’?

(W denotes social welfare and Uy, U, etc. represent the cardinal utilities)

Options :

W=U,*U,*U,...U

n

W=, O
4. ®

n

Question Number : 164 Question Id : 54062614653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




Question Number : 165 Question Id : 54062614654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which criterion has used the loser's point of view for measuring the changes in social welfare?
Options :

1. # Max-min Criterion

2. % Samuelson's Criteria

3. % Scitovsky double criteria

4. ¥ Hicks Criterion

Question Number : 165 Question Id : 54062614654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % A99-ffF s

2. % JUUATH AMES

3. % fEpciot! GIgX AMES

4. ¢ g AMES



Question Number : 166 Question Id : 54062614655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A curve depicting all maximum output possibilities of two or more goods given a set of inputs is called
Options :

1. ¥ Product possibility frontier

2. # Contract curve

3. ¥ Community indifference curve

4. % Laffer Curve

Question Number : 166 Question Id : 54062614655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ TG GHTGT GHTd

2. % 3JdY dh

3. % YGA% ISl dsb

4. % hY deh

Question Number : 167 Question Id : 54062614656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A natural monopoly occurs in a market where the:

Options :

1. ¥ average cost curve is decreasing over the entire relevant range of outputs
2. ® single company is not able to supply the entire market

3. % marginal cost curve is constant for all the given outputs

4. ¥ capital cost is more than the average cost

Question Number : 167 Question Id : 54062614656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

U SIOR H U UTpicic UhTUBR §Iell § STEl:

Options :

1. ¢ 33cye &I Tguf URiffer T 1R 3iRId ARTd ash o¢ 38T 8
2. % Uh HUHI IR ST9IR 1 3MMYfd B & e T8t 8

3. % gt fau Y em3eye & forw Tiuid o 9% RR §

4. % ol ANTT 3T ANTd ¥ 31 §

Question Number : 168 Question Id : 54062614657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following gives the correct example of common property resource type of externality?

Options :

1. ¥ A property tycoon buying up a large number of houses in a town, causing prices to rise.

2. % A child buying a mobile phone for the first time and increasing its usefulness among other children.

3. ¥ The harvesting by one fishing company in the open sea depletes the stock of available fish for the other companies.

4. ® An individual planting an attractive garden in front of her house may benefit others living in the area.

Question Number : 168 Question Id : 54062614657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % U UTuc T3 U e H go) I=T § R Wiiedl 7, Ford S1Ad 9gdi ¢

2. % U g1 Ugal IR HIa3d BH WIS X618 3R 3 9= & o9 39! SUAifiar 9¢1 81 7|

3. ¢ Go TG B U ASal Udh S alell hU-T gRT AS T Udh S I gO-l Hu-d! o ot Iuds AT &1 Wid JHT 81 Sl ¢ |
4. % Uh i 370 TR & ITH T 3AThN ST T & T I &7 § T8 aTdl 310 ANl &bl o 81 IhaT g |

Question Number : 169 Question Id : 54062614658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is an essential element of a game?

L. Players
II. Strategies
III. Pay offs

Options :

1. % Tand II

2. % Il and III
3. % Tand I

4, % 1,11 and III

Question Number : 169 Question Id : 54062614658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. faerst
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L YITdrd
Options :

1. % 19U 11

2. % [1dYTIII
3. % 1AYTII
4. 1, T QYT

Question Number : 170 Question Id : 54062614659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair is correct?

I. Cooperative games — joint action agreements are enforceable
II. Non-cooperative games — joint action agreements are not enforceable

Options :
1. % Only I



2. % Only IT
3. % Both I and II
4, % Neither I nor I1

Question Number : 170 Question Id : 54062614659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1

2. % Had Il

3. ¢ 1 QAT ML

4. % AT

Question Number : 171 Question Id : 54062614660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In zero sum games

Options :

1. #* one’s gain is another’s gain

2. % one’s loss is another’s loss

3. ¥ one’s loss is another’s gain

4. % all players are at loss

Question Number : 171 Question Id : 54062614660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RIC I KIE e |

Options :
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2. % T B g1 gERI I g Bl &
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4. % g faeSt ot H g @

Question Number : 172 Question Id : 54062614661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If rate of return is r, then is the discount factor.
Options :

1

v (1+1)

5 % (1+1)

1
3 % (1-T1)

4. ® (1 _11)

Question Number : 172 Question Id : 54062614661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e gfape &R r 8, ol B PRP &
Options :

1

L v (1+r1)




2. %

1
3. % {1_1}
4. ® (] _11)

Question Number : 173 Question Id : 54062614662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a repeat game the initial game which is repeated in every time period is called the game.
Options :

1. ¥ stage

2. % zero

3. % primary

4. % origin

Question Number : 173 Question Id : 54062614662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T & IRMYe T SR R T sa A Qg ol s, T dgardi gl
Options :

1. ¥ K

2. % SR

3. % RS

4. % SNRFoH

Question Number : 174 Question Id : 54062614663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a reason for higher productivity in industrial sector?
Options :

1. # Existence of greater capital intensity

2. # Continuity of production

3. % No specialisation and no division of labour

4. % Less dependence on natural factors

Question Number : 174 Question Id : 54062614663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafofed # 3 o a1 siefiie &3 H I IdTeHdl BT HRUE! 87
Options :

1. % SUTGT Gl SRS b1 gIHT

2. % JATGH B AR

3. Y P Dl (AR TYUT BIs [GHTS AT g1

4. % YIHidd HRDI R HH AR

Question Number : 175 Question Id : 54062614664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is an economic factor hindering the industralisation in developing countries?

I. Scarcity of capital
II. Absence of industries to use the byproducts of existing industries
III. Adequate infrastructure facilities

Options :

1.¥ TandII

2. % Il and III
3. ® Jand III

4. % 1 11 and 111



Question Number : 175 Question Id : 54062614664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 @ oF 1 fdereha e & shevfieo & aren sram arar te 3nfie aRe 82

1. Goil &1 Sl
II.%W%WWWW%WW@W
111 YT gl gfaem

Options :

1. ¥ 13U

2. % [1TYUTII

3. % 1Y

4, % 111 QYT

Question Number : 176 Question Id : 54062614665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of good — type is correct?

I. Bicycle — Durable consumer good
II. Beverages — Nondurable consumer good

Options :

1. * Only I

2. % Only I

3. % Both I and II
4. % Neither I nor II

Question Number : 176 Question Id : 54062614665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRed § I ®1F 91 a%-UHR &1 g a1 82
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Options :

1. % Had I

2. % Had I

3. ¢ 1 qUTIL A
4. % qEIIATR I

Question Number : 177 Question Id : 54062614666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the presence of uncertain situations, people tend to show some behavioural traits. Which of the following is correct?

I. People often do not want to play actuarially fair games.
II. People won't necessarily play actuarially favourable games.

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. ® Neither I nor II

Question Number : 177 Question Id : 54062614666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

siffda fRufaat ot Jufufa &, a1 $2 oraeR Teeh demr i § 1 Fufafed 7 4 oF arad 82
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Options :

1. % Bad 1
2. % BHad Il
R AGUIDIEGI




4. % ATEIIATSII

Question Number : 178 Question Id : 54062614667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a type of lottery?

I. Simple
II. Compound

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 178 Question Id : 54062614667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafeiRad 7 9 & O Th UHR & dledl 82

I. 93d
RIIEED

Options :

1. % Had 1

2. % Had Il

3. ¢ 1 UGl
4. % GBI

Question Number : 179 Question Id : 54062614668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct regarding VNM expected utility theory?



I. “u’ represents the von Neumann-Morgenstern utility function
II. ‘U’ represents the Bernoulli utility function

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 179 Question Id : 54062614668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

VNM 31018 Suaiitar Rigid & Tl # Fafciad # 9 - a1 49e! 82

I 'u' I gHA-ANRe SUIRTAT HaRM &1 Ui Bl §
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Options :

1. % Had 1
2. % HAd Il
3. % [ QYT ISl
4. TBIIATR I

Question Number : 180 Question Id : 54062614669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is the correct representation of Arrow-Pratt coefficient of risk aversion?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :




u*(x)

r,(x:u)= )

N r, (xiu)=u™(x)+ ul(x]

. 1, (xiu)=u™(x)- ul(x]l

Question Number : 180 Question Id : 54062614669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafed & @ o 91 RI-Ue e tax i &1 g6t ufatfa g2
Note: For this question, discrepancy 1s found in question/answer. So,this
question is 1gnored for all candidates.

Options :
1
u(x
r,(x;u)= x()
’ us(x)
1.
u*(x
1, (x:u)= 1()
) g u (%)

N 1, (x:u)=u"(x)+u'(x)

. & (x:u)=u*(x)- ul(x}
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Question Number : 181 Question Id : 54062614670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If we want to have more of one of the goods, we will have less of the other good. Thus, there is always a cost of having a little more of one good
in terms of the amount of the other good that has to be forgone. This is known as the



Options :

1. ¥ Opportunity cost
2. # Actual cost

3. % Marginal cost

4. # Financing cost

Question Number : 181 Question Id : 54062614670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 89 T18d & P! §HR UM Uh a¥q BT 1D g1, o SHR U GERI a¥d P! AT HH BRI | 3 UK, TR g &1 AT & GaH # gHRIT TdH
I & UIST TP B Pt AN Bt & o BleT1 USal gl 30 P =g H ST STal gl

Options :

1. % I dNTd
2. % gRAfde dNTd
3. % Yigid arTa
4. % oI AT

Question Number : 182 Question Id : 54062614671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is required for a person to make a rational decision?
Options :

1. % Choices that don’t have trade-offs

2. # Choices that never change

3. ¥ Choices that are consistent with a similar goal every time

4. # Logical choices without error

Question Number : 182 Question Id : 54062614671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pt afad oY dhatrd fuig aF & fore fRaferfad & T fege! nawgedr gidl 82

Options :




2. # ey o Hul 8 dgad
3. ¢ UY faded ST g) IR A A& & 3=U 8l
4. % I & fo1 dMfch s fadbe

Question Number : 183 Question Id : 54062614672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

L. In positive economics we deal with scientific issues and questions
II. In normative economics, disagreements among economists can never be resolved

Options :

l. % Only I

2. % Only II

3. % Both I and I
4. #® Neither I nor II

Question Number : 183 Question Id : 54062614672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad § ¥ o5 91 HY= I8 82

I. YHRIAS AR § 81 IS TE 3R Uil 1 gazmd §

1L, TR e §, srfenfEral & ot srggwfa o et +ff g1 AT fovan o wepan 8
Options :

1. % Had1

2. % HAd II

3. ¢ QYT I gl

4, ® AIQIIATBI

Question Number : 184 Question Id : 54062614673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which one of the following is a disadvantage for allocating resources utilizing a market system?

I. Profits will be less
II. Uneven distribution of income may take place

Options :

1. % Only I

2.9 Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 184 Question Id : 54062614673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafead o § ®F 91 U TSR YOI &1 YA $HR S1eH] & 3fide & ot U Ufded uRkfufa g2

1. g1 &4 gRT
11, 3T T GHM A0 gl hdT g
Options :

1. % Hadl
2. ¢ HAd Il
3. % [ QYT ISl
4. % qEIIATE I

Question Number : 185 Question Id : 54062614674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which branch of economic theory is associated with the difficulty of resources allocation?

I. Microeconomic theory
II. Macroeconomic theory

Options :



1. ¥ Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 185 Question Id : 54062614674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3o Rigid o) 1 T XRaT TA1YAT & 3MTded Pl HiSTE J Gaifdd 82

1. afy fmd Rigid
1. gAY SriRmd Rigid
Options :

1. Had |

2. % Had Il

3. % [ UGl

4. % qEIIATRIII

Question Number : 186 Question Id : 54062614675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The creation of choice is done by

I. scarcity of resources
II. the urgency of needs

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 186 Question Id : 54062614675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

U T fHToT gRT far Sar 8|

1. S b 3HTT
I1. SR=Xd] &1 dlep e d]
Options :

1. ¥ Hadl
2. % Had Il
3. % [ QYT
4. % 1B

Question Number : 187 Question Id : 54062614676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which law defines that the demand curve to slope downward?
Options :

1. # diminishing total utility

2. # total utility maximisation

3. # total utility minimisation

4. ¥ diminishing marginal utility

Question Number : 187 Question Id : 54062614676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT d5p 1 3 BT 3R UaurdT T IR B aTel B 1 = 89

Options :




Question Number : 188 Question Id : 54062614677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Why are indifference curves convex to the origin?

I. Two goods are perfect complementary goods
II. Two goods are imperfect substitutes

Options :

1. % Only I

2.9 Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 188 Question Id : 54062614677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MY dash Hd forg BT 3R Iiet T g1l 82

1. & I quf IRep oy &
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Options :

1. % Hadl
2. ¢ HAd Il
3. % [ QYT ISl
4. % qEIIATE I

Question Number : 189 Question Id : 54062614678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When the total utility is maximum, then the marginal utility is
Options :

1.¥0

2. %]



3. # Infinite

4. ¥ minimum

Question Number : 189 Question Id : 54062614678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

od Ho ST ifead giclt 8, A Fid IuAfrar gl gl
Options :

1.¥0

2. %1

3. % 3fd

4. % YAdH

Question Number : 190 Question Id : 54062614679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Elasticity of demand is a

I. Qualitative statement
II. Quantitative statement

Options :

1. * OnlyI

2. % Only II

3. % BothIandII
4. % Neither I nor II

Question Number : 190 Question Id : 54062614679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ) &l Th gl

L. O Y
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Options :

1. % $Had 1

2. ¥ HAd Il

3. % [ UGl
4. % I I

Question Number : 191 Question Id : 54062614680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For Giftin goods, price elasticity of demand is
Options :

1. # negative

2. ¥ positive

3. % zero

4. % not known

Question Number : 191 Question Id : 54062614680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffrT agei & o, Am Sl dla a3l
Options :

1. % BUMTHD

2. ¥ ORIHD

3. % Y

4. % Qg1

Question Number : 192 Question Id : 54062614681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is the property of indifference curve?



I. Two indifference curves can intersect each other.
II. Indifference curve is concave to origin.

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 192 Question Id : 54062614681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad & I & 91 SFRMM a% &1 82
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Options :

1. % Had 1
2. % HAd Il
3. % [ QYT ISl
4. TBIIATR I

Question Number : 193 Question Id : 54062614682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When the income of consumer rises, then the demand curve for an inferior good
Options :

1. % becomes a horizontal straight line

2. # does not change

3. ¥ shifts to the right

4. ¥ shifts to the left

Question Number : 193 Question Id : 54062614682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

SUHIE &1 3T | gig o IRUMTAGEY HIe 3 (FERasia a¥qu) & forg Ji 9% |
Options :

1. % U afas Reft Ry g9 rar g

2. % T PIg gqad -Ta! 3ATdl

3. % 2t 3R fgpar ?

4. ¢ 913 3R RIgFHar g

Question Number : 194 Question Id : 54062614683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If supply curve is Perfectly Inelastic, the supply curve is
Options :

1. ¥ vertical

2. ® horizontal

3. # at an angle of 45 degrees from X axis

4. ® at an angle of 45 degrees from Y axis

Question Number : 194 Question Id : 54062614683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe 3Tyfel o quid: Ao &, dl MY ash g gl
Options :

1. ¢ dI&Y

2. % g

3. % X 3& ¥ 45 UM P PR

4. % Y A& 45 TSR B DU W

Question Number : 195 Question Id : 54062614684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Due to which of the following reasons the change in the supply of a good along with same supply curve may occur?

I. change in the price of the good
II. change in the prices of related goods

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 195 Question Id : 54062614684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ Had |

2. % Had II

3. % [ QYT

4. % qEIIATR I

Question Number : 196 Question Id : 54062614685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If the supply of a commodity is perfectly elastic, an increase in demand will result in

I. Equilibrium price remaining constant
II. Increase in equilibrium quantity

Options :
1. % Only I



2. % Only II
3.4 BothIand II
4. % Neither [ nor 11

Question Number : 196 Question Id : 54062614685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe foradt axg 1 Sy It e @ AR B, 7 H gfg & uRumaey Bl

L. ITaRT H1Ad RRI{A R
I1. JrGaRT 76 ¥ gfg
Options :

1. % Had |

2. % Had Il

3. ¢ 1 AU Gl

4. % qEIIATRIII

Question Number : 197 Question Id : 54062614686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Expansion in supply refers to a situation when the producers are willing to supply a quantity of a good at an price.
Options :

1. ¥ larger, increased

2. # larger, same

3. ® smaller, increase

4. # Larger, decreased

Question Number : 197 Question Id : 54062614686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Mgfd ¥ fovar 39 Rufd &1 el #al § 96 Sdes axg AET DI 3L BT IR B & [ AR B & |

Options :



1. ¥ S8 g3, 941 g8
2. % 941 gs, 9
3. % HUEs, 941 83
4. % 9313, 91 68

Question Number : 198 Question Id : 54062614687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Production function shows of a good.

Options :

1. # a technological relationship between inputs and cost
2. % the economic relationship between inputs and cost

3. ¥ a technological relationship between inputs and output

4. % atechnological relationship between inputs and price

Question Number : 198 Question Id : 54062614687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFfl @ IUEIwad  Sfargl
Options :

1. % 399 3R AN & g TP a1 dae

2. % ZYC 3R AT & did Mh ey

3. ¢ YT 3R 3H3CYC & o1 U dPb1h! Gae
4. % ZYC R DHIAd & d1d U dPb1h! Gae

Question Number : 199 Question Id : 54062614688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is correct?

L. In perfect competition, firms produce identical goods.
II. In monopolistic competition, firms produce slightly different goods.



Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 199 Question Id : 54062614688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % dhad |

2. % Had Il

3. ¢ 1 UGl

4. % A IAE I

Question Number : 200 Question Id : 54062614689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is an example of a perfectly competitive firm's short-run decision?

I. The profit-maximizing level of output
II. How much to spend on advertising and sales promotion

Options :

1. % Only I

2. % Only II

3. # BothIand II
4. # Neither I nor II



Question Number : 200 Question Id : 54062614689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¥ Had |
2. % Had Il
3. % [qUT I Ml
4, % G AR
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Question Number : 201 Question Id : 54062614690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a firm’s over-riding objective?

I. Maximise economic profit
II. Avoid an economic loss

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 201 Question Id : 54062614690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeed 7 4 19 91 BH &1 RIS I 82

1. 3Mfean e ey
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Options :

1. Had I

2. % Had Il

3. % [ UGl
4. % GBI




Question Number : 202 Question Id : 54062614691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct regarding perfectly competitive market?

I. It consists of large number of buyers and sellers.
II. There are no barriers to entry.

Options :

1. * OnlyI

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 202 Question Id : 54062614691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had |

2. % Had Il

3. ¢ 1 AU Gl

4. % qEIIATR I

Question Number : 203 Question Id : 54062614692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does monopolistic competition have in common with monopoly?

I. A large number of firms
II. A downward sloping demand curve

Options :



1. * Only I

2.9 Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 203 Question Id : 54062614692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $had |

2. ¢ Had I

3. % [ qUTI M

4. % I IAIE I

Question Number : 204 Question Id : 54062614693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Firms in monopolistic competition have demand curves that are

I. U shaped
II. Downward slopping

Options :

1. % Only I

2.9 Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 204 Question Id : 54062614693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

THIYHR UFaaIRIdT H BHT & HFT dsh FEd gl

1. U AR
11, < &1 3R gaurdn

Options :

1. % PHadl

2. ¥ Had Il

3. % [qUT el
4. % 1B

Question Number : 205 Question Id : 54062614694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cartel is designed to output and prices.
Options :

1. #® restrict; lower

2. # expand; lower

3. ¥ restrict; raise

4. # expand; raise

Question Number : 205 Question Id : 54062614694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 206 Question Id : 54062614695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When firms in monopolistic competition are making an economic profit then

I. Firms will enter the industry
II. Demand will decrease for the original firms

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 206 Question Id : 54062614695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Bhad
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3. 1T I Gl

4. % AIGIARII

Question Number : 207 Question Id : 54062614696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A single-price monopoly must if it wants to increase its sales.
Options :

1. # increase the price for all customers

2. % lower its price for only a few selected consumers



3. % do price discrimination

4. ¥ lower the price for all customers

Question Number : 207 Question Id : 54062614696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 208 Question Id : 54062614697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is correct?

L. If a given quantity of a good is to be produced and supplied, the supply curve would indicate the minimum price of the good expected by each
seller.

II. The demand function which expresses the functional relationship between the quantity demanded of a good and its own price is based on
ceteris paribus assumptions.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 208 Question Id : 54062614697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Bhad |

2. % Had Il

3. [ QYT I gl
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Question Number : 209 Question Id : 54062614698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A spray prevents mosquitos from biting. This spray is produced by competitive firms. Which of the following will be the outcome of the market?
Options :

1. ® The market will demonstrate second welfare theorem

2. ¥ Due to the uncaptured positive externality very small number of sprays are produced

3. # Due to the uncaptured positive externality very large number of sprays are produced

4. ® Due to the uncaptured negative externality very large number of sprays are produced

Question Number : 209 Question Id : 54062614698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 210 Question Id : 54062614699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following is required by the First Fundamental Theorem of Welfare Economics?

I. Producers and consumers to be price takers.
II. That there be an efficient market for every commodity.
III. That the economy operates at some point on the utility possibility curve.

Options :

1. # Iand II

2. % Il and III
3. % TIand III

4, 1,11 and 11T

Question Number : 210 Question Id : 54062614699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % IdUTll

2. % J1 dYUTIII
3. % T dYTII
4.« 111 dYTIII

Question Number : 211 Question Id : 54062614700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct regarding public goods?

I. They are non-rival in consumption
II. Consumers cannot be excluded altogether from them

Options :



1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 211 Question Id : 54062614700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had |

2. % Had II

3. ¢ 1 AUT I A
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Question Number : 212 Question Id : 54062614701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Due to which of the following reasons externalities can be positive?

I. Utility can be impacted positively as well as negatively
II. Subsidies are positive externalities

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 212 Question Id : 54062614701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafeiRad 7 9 {59 SR Y S8 SR GHRIHS 81 bl 82

1. ST GHRIAD & JIY-TTY THRIAP =0 Y UHTAd g Jhdl o
1. gfede) GHRIHS 18 FRUT &
Options :

1. ¥ Hadl
2. % Had Il
3. % [qUT el
4. % 1B

Question Number : 213 Question Id : 54062614702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct regarding Pigouvian subsidy?

L. It is the same thing as a Pigouvian tax
II. It moves production to the socially optimal level of output

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 213 Question Id : 54062614702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad & 9 &5 91 o gfehet & ded & ag g2
1. g8 fUriifag o & 9aM @

1. IE IUTGH Bl IATGH & IR TU A PIH ¥R ddb o ol o
Options :




1. % FHadl
2.¥ HAd Il
3. % [QUT I gl
4. % 1B

Question Number : 214 Question Id : 54062614703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which method can help in obtaining a welfare improvement if externalities exist?

I. Regulation

I1. Assigning property rights and permitting bargaining
Options :

1. % Only I

2. % Only II

3. ¥ Both T and II

4. % Neither I nor II

Question Number : 214 Question Id : 54062614703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had |
2. % Had Il
3. ¢ 1 AU Gl
4. % qEIIATR I

Question Number : 215 Question Id : 54062614704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
According to Keynes, which of the following is a component of demand for money?

I. Transactions demand
II. Precautionary demand
III. Speculative demand

Options :

1. # Iand II

2. % Il and III
3. % Tand III

4. 1,11 and 111

Question Number : 215 Question Id : 54062614704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 216 Question Id : 54062614705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An important mechanism through which sellers and buyers deal with the problem of asymmetric information is
Options :

1. ¥ Market signaling



2. * Insurance Markets
3. #® Moral Hazard
4. # Principal-Agent Problem

Question Number : 216 Question Id : 54062614705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 217 Question Id : 54062614706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The concept of market signaling was first developed by
Options :

1. ¥ Michael Spence

2. % Kaldor

3. ® Garrett Hardin

4. ¥ Pareto

Question Number : 217 Question Id : 54062614706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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3. % e gIfa
4. % gy

Question Number : 218 Question Id : 54062614707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct regarding money supply?

I. Exogenous - Money supply is determined outside the system
II. Endogenous - banking sector along with firms and households play an important role in influencing the money supply

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 218 Question Id : 54062614707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Hadl
2. % HAd Il
3. QYT I gl
4. % qEIIATE I

Question Number : 219 Question Id : 54062614708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which of the following conditions does a positive consumption externality occur?



I. The social marginal cost is greater than the private marginal cost
II. The social marginal benefit is greater than the private marginal benefit

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 219 Question Id : 54062614708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had |

2. ¢ HAd I

3. % [ QYT
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Question Number : 220 Question Id : 54062614709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is NOT correct regarding the changes in the price of a product in free market?

I. The change in the price is governed by the government
II. The change can provide an incentive to reallocate resources

Options :

1. ¥ Only I

2. % Only II

3. % Both IandII



4. % Neither I nor 11

Question Number : 220 Question Id : 54062614709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. Had |

2. % Had II

3. % [ QYT

4. % qEIIATRIII
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Question Number : 221 Question Id : 54062614710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct regarding community surplus?
Options :

1. # Producer surplus — consumer surplus

2. % Producer surplus + profit

3. # Total utility + profit

4. ¥ Producer surplus + Consumer surplus

Question Number : 221 Question Id : 54062614710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % JdIGh HTYRY — JUHIHIT URIY

2. % JIAIGH AYRY + ATY

3. % Hd U + 1Y

4. IAIGH YR + IUHTIT SHTYRY

Question Number : 222 Question Id : 54062614711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is correct regarding monopoly power in a market?

L. It leads to higher producer surplus
II. It leads to lower prices

Options :

1. % Only I

2. % Only IT

3. % BothIand II
4. % Neither I nor II

Question Number : 222 Question Id : 54062614711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ Hadl

2. % Had Il

3. % [qUT el

4. % 1B

Question Number : 223 Question Id : 54062614712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct regarding externality?

I. The existence of externality prevents the achievement of Pareto optimality even when perfect competition prevails.
II. An externality occurs when a decision causes benefits to individuals or groups other than the person making the decision.

Options :
1. % Only I
2. % Only II



3.4 BothIand II
4. % Neither I nor 11

Question Number : 223 Question Id : 54062614712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had |

2. % Had II

3. ¢ 1 AUT I A
4. % qEIIATRIII

Question Number : 224 Question Id : 54062614713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following does not provide an incentive to reduce a negative externality?

I. A merger with affected firms
II. Bargaining among firms

Options :

1. ® Only I

2. % Only I

3. % BothIand II
4. ¥ Neither I nor II

Question Number : 224 Question Id : 54062614713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FHadl
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Question Number : 225 Question Id : 54062614714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A firm generating a negative externality has to reach an economically efficient output level. Which of the following condition is necessary?
Options :

1. # excise tax imposed on firm = firm’s marginal cost

2. % excise tax imposed on firm = social marginal cost

3. ¥ excise tax imposed on firm = social marginal cost — firm’s marginal cost

4. # excise tax imposed on firm = social marginal cost + firm’s marginal cost

Question Number : 225 Question Id : 54062614714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 226 Question Id : 54062614715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The difference principle of justice requires that all economic inequalities be arranged so that they are

I. beneficial to the least advantaged
II. attached to offices and positions open to all members under conditions of fair equality of opportunity

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 226 Question Id : 54062614715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1

2. % Had Il

3. [ QYT ISl

4. % GBI

Question Number : 227 Question Id : 54062614716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who gave the impossibility theorem?
Options :

1. ¥ Kenneth Arrow

2. % Friedrich Hayek

3. # David Ricardo

4. ® Ludwig von Mises



Question Number : 227 Question Id : 54062614716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 228 Question Id : 54062614717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who has written ‘The Tragedy of Commons’?
Options :

1. ¥ Garrett Hardin

2. % Thomas Robert Malthus

3. % E. F. Schumacher

4. # Irving Fisher

Question Number : 228 Question Id : 54062614717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 229 Question Id : 54062614718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct?

Options :

1. # Real interest rate/Nominal Interest Rate = Expected Inflation Rate
2. # Nominal interest rate = Real Interest Rate — Expected Inflation Rate
3. ¥ Real interest rate = Nominal Interest Rate — Expected Inflation Rate

4. ¥ Real interest rate = Nominal Interest Rate

Question Number : 229 Question Id : 54062614718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 230 Question Id : 54062614719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ronald Coase asserted that under perfect competition private and social cost will be equal and addressed a well-known problem of market
externalities, known as the effect.

Options :

1. ® razor

2. ® overflow
3. ¥ Spillover
4. ® Pareto

Question Number : 230 Question Id : 54062614719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 231 Question Id : 54062614720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an example of adverse selection?

Options :

1. # Purchasing a new air conditioner on basis of a friend’s recommendation without seeing it

2. ¥ High car insurance premiums resulting from the poor maintenance of the cars by people who buy these policies
3. # Pricing a high-quality wine more than the low-quality wine

4. % To purchase a low-priced item even though its quality is inferior

Question Number : 231 Question Id : 54062614720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 232 Question Id : 54062614721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct regarding Capital Output Ratio?

I. The Capital Output ratio shows the relationship between the Investment rates and GDP Growth in a country
II. The higher capital output ratio denotes higher efficiency of the capital

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 232 Question Id : 54062614721 Question Type :

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Options :

1.¥ Hadl
2. % HAd Il
3. % [ QYT ISl
4. % qEIIATE I

Question Number : 233 Question Id : 54062614722 Question Type :

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the meaning of ‘Evergreening of Loans’?
Options :

1. % Waiving off the interest by the banks

2. % Banks give additional loans to its existing borrowers

3. % Loan approvals within 24 hours

MCQ Option Shuffling : Yes Is Question Mandatory : No Option



4. % Government providing loans to banks to meet their losses

Question Number : 233 Question Id : 54062614722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % P! gRT TS ATH HAT
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Question Number : 234 Question Id : 54062614723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct regarding the Outcome budget?

L. It reflects the itemised allocation of resources reflected under the last General Budget and prepared by ministries of the Government.
II. It was started in 2005.

Options :

1. % Only I

2. % Only IT

3. % BothIand II
4. % Neither I nor II

Question Number : 234 Question Id : 54062614723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. % Had I
2. % HAd Il
3. [ QYT 11 gl
4. % AT I

Question Number : 235 Question Id : 54062614724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct regarding the revision of the base year of National accounts from 2004-05 to 2011-12?

I. Headline growth rate will now be measured by GDP at constant market prices.
II. Earlier, growth was measured in terms of growth rate in GDP at factor cost at constant prices.

Options :

l. % Only I

2. % Only II

3. % BothIand II
4. #® Neither I nor II

Question Number : 235 Question Id : 54062614724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FHadl

2. % had Il

3. ¢ QYT I gl
4. % 1B

Question Number : 236 Question Id : 54062614725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct regarding the MCAZ21 initiative launched by the Ministry of corporate affairs?

I. Easy and secure access to MCA services in an assisted manner for corporate entities, professionals, and general public.
II. It is designed to fully automate all processes related to enforcement and compliance of the legal requirements under the Companies Act, 1956.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 236 Question Id : 54062614725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FHadl
2. % HAd II
3. ¢ QYT I gl
4. % 1B

Question Number : 237 Question Id : 54062614726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between Gross Value of Output (GVO) and Gross Value Added (GVA) is called as
Options :

1. ¥ intermediate consumption

2. % final consumption



3. % original consumption

4. ¥ marginal consumption

Question Number : 237 Question Id : 54062614726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 238 Question Id : 54062614727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct regarding Beti Bachao Beti Padhao (BBBP)?

I. The programme was launched on 22nd January, 2015 at Panipat, Haryana for promoting survival, protection and education of girl child.

I1. It aims to address the issue of declining Child Sex Ratio (CSR) through a mass campaign targeted at changing social mind set and creating
awareness about the criticality of the issue.

II1. The overall goal of the BBBP programme is to prevent gender biased sex selective elimination, ensure survival and protection of the girl
child and to ensure education and participation of the girl child.

Options :

1. # Iand II

2. % Il and III
3. % Tand III

4. % 1, Il and III

Question Number : 238 Question Id : 54062614727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 13U

2. % [IAYTIII

3. % YT I

4. 1 LTI I

Question Number : 239 Question Id : 54062614728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is Effective Revenue Deficit?

Options :

1. ® It is obtained by adding Revenue Deficit with Capital Deficit

2. ® It is equal to difference of revenue receipt and revenue expenditure

3. ¥ It is the difference of revenue deficit and grant for the creation of capital assets

4. ® Tt is the total grant to the creation of capital asset and revenue expenditure

Question Number : 239 Question Id : 54062614728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 240 Question Id : 54062614729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following would lead a country to its ratings downgrade by the Rating Agencies?

I. High Fiscal Deficit and debt burden
II. High Current Account Deficit and low FOREX reserve
III. Weak and volatile Stock Market

Options :

1.¥ Tand II

2. % Il and III
3. % Tand III

4. % I, Il and III

Question Number : 240 Question Id : 54062614729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 241 Question Id : 54062614730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
For the horizontal distribution of taxes among the states, which among the following criteria has been adopted by the 15th Finance Commission?

I. Income Distance
II. Population (2011 Census)

Options :

1. ® Only I

2. % Only II

3. % BothIand II
4. % Neither I nor II



Question Number : 241 Question Id : 54062614730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1
2. % Had Il
3. [ QYT ISl
4. % GBI

Question Number : 242 Question Id : 54062614731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct regarding Pradhan Mantri Garib Kalyan Yojana?

I. Insurance scheme for healthcare workers
II. Cash transfers to poor and vulnerable sections
III. Benefits for the workers employed in organised sector

Options :

1.¥ Tand II

2. % Il and III
3. % land III

4. % [, 1l and III

Question Number : 242 Question Id : 54062614731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. 13U

2. % [ QYT

3. % [QUTIII

4. % 1 11 QYT

Question Number : 243 Question Id : 54062614732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct regarding the Kisan Credit Card scheme?

L. It was launched in 1988
II. Only commercial banks can implement it

Options :

1. * Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 243 Question Id : 54062614732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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3. % 1dUT I Sl
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Question Number : 244 Question Id : 54062614733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following is/are the initiatives started by NITI Aayog?

I. Sustainable Action for Transforming Human Capital (SATH)
II. Ek Bharat Shreshtha Bharat
1. Composite Water Management Index

Options :

1. # Iand II

2. % Il and III
3.9 Tand III

4. % I, II and III

Question Number : 244 Question Id : 54062614733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % [dUTII

2. % [IdUT I

3.9 [dYT 1T

4, % 1 11 dYTIII

Question Number : 245 Question Id : 54062614734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which among the following International agencies publishes the Global Investment Trend Monitor Report?
Options :

1. * World Economic Forum

2. % United Nations Conference on Trade and Development

3. # International Monetary Fund

4. % World Bank

Question Number : 245 Question Id : 54062614734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 246 Question Id : 54062614735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct regarding the GST Compensation Mechanism?

I. The GST Compensation cess is used to compensate the states for any loss they incur within the first five years of GST implementation.
II. According to the GST Act, States are guaranteed compensation if the GST revenue growth is less than 14 percent.

Options :

l. % Only I

2. % Only II

3. % BothIand II
4. # Neither I nor II

Question Number : 246 Question Id : 54062614735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 247 Question Id : 54062614736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements regarding Small Finance Banks (SFBs) is correct?

I. The Small Finance Banks can accept deposits and lend loans only up to Rs. 1 lakh.
II. They are required to extend 75 percent of their loans towards the priority sectors.

Options :

1. % Only I

2.% Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 247 Question Id : 54062614736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FHadl

2. ¥ Had Il

3. % [ UGl
4. % qGIIATRIII

Question Number : 248 Question Id : 54062614737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following are instruments of the RBI's Monetary policy?

I. Open market operations
II. Cash reserve ratio

II1. Bank rate

IV. Reverse Repo rate

Options :

1. # I, T and III
2. % II, 1T and IV
3. % LIl and IV
4. ¢ L IL 1L, IV

Question Number : 248 Question Id : 54062614737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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3. % L IIdYUT IV
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Question Number : 249 Question Id : 54062614738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following can be the likely reason for slowdown in the economy?

I. Rise in investment rates
II. Decrease in consumption expenditure
II1. High policy rates

Options :

1. # Iand II

2. % Il and III
3. % Tand III

4. % I, Il and III

Question Number : 249 Question Id : 54062614738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 19T

2. ¥ AU

3. % [ YT

4. % 1 11dYUT I

Question Number : 250 Question Id : 54062614739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Who has written the book ‘Fault Lines’?
Options :

1. # Bimal Jalan

2. % Guru Charan Das

3. ¥ Raghuram G. Rajan

4. % Satish Y. Deodhar

Question Number : 250 Question Id : 54062614739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 251 Question Id : 54062614740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A ‘closed economy’ is an economy in which
Options :

1. % the money supply is fully controlled

2. ® deficit financing takes place

3. % only exports take place

4. ¥ neither exports nor imports take places

Question Number : 251 Question Id : 54062614740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 252 Question Id : 54062614741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does the term Free Market means?

L. It is a market where pricing is driven by the laws of supply and demand.
II. In free market things are available without restraints of the government.

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. % Neither I nor I

Question Number : 252 Question Id : 54062614741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 253 Question Id : 54062614742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is disinvestment?

I. Offloading of shares of private companies to government.
I1. Offloading of government shares to private companies.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 253 Question Id : 54062614742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 254 Question Id : 54062614743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of following is correct about the Primary deficit?
Options :

1. # Capital Receipts + Interest Payment

2. # Capital Receipts — Interest Payment



3. % Fiscal Deficit — Interest Payment
4. # Fiscal Deficit + Interest Payment

Question Number : 254 Question Id : 54062614743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 255 Question Id : 54062614744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are correct regarding the austerity measures taken by a country going through adverse economy conditions?

I. These measures include an increase in tax.
II. These measures include reduction in budget deficit.

Options :

1. * Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 255 Question Id : 54062614744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1

2. % Had Il

3. ¢ 1 UGl
4. % GBI

Question Number : 256 Question Id : 54062614745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is part of Human Development Index?

L. Literacy rates
II. Life expectancy at birth
III. GNI per head at real purchasing power

Options :

1. % Tand II

2. % Il and III
3. % Tand I

4. % I, 1I and III

Question Number : 256 Question Id : 54062614745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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4. % [ 11 dYT I

Question Number : 257 Question Id : 54062614746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following will contribute to a higher current account deficit?

I. Increased exports of rice
II. Rise in import of mobile phones

Options :

1. % Only I

2.% Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 257 Question Id : 54062614746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 258 Question Id : 54062614747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are components of internal debt in India?



I. Compensation and Other Bonds
II. 14 Day Intermediate Treasury Bills
II1. Securities issued to International Financial Institutions

Options :

1. # Iand II

2. % Il and III
3. % Tand III

4. 1,11 and 111

Question Number : 258 Question Id : 54062614747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fffead § ¥ &F YRd | 3iidRe FU P geh g2

1. G3HTaST 3R 30§18
11 14 feadiia gexdifsue ol faa
111, SRSy ey Sl &) o ufrferai

Optlons :

1% IdUT

2. % I dYTIII
3. % TdUTII
4. 1, 11 dYTIII

Question Number : 259 Question Id : 54062614748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In India, deficit financing is used for raising resources for

L. reducing the foreign debt
II. economic development

Options :
1. % Only I
2.% Only II



3. ® BothIand II
4. % Neither [ nor 11

Question Number : 259 Question Id : 54062614748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR H, 91 & faauiyor &1 39anT & o TTeE Se™ & forg far S g |

1. faczlt Bu ol B HA
11. 3 Ay

Options :

1. % Had |

2. ¢ HAd I

3. % [ QYT
4. % qEIIATRIII

Question Number : 260 Question Id : 54062614749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following reasons account for lower rural income in India?

I. Lower investment in agriculture
II. Lower prices of primary products

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 260 Question Id : 54062614749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFffEd & ¥ o9 91 R HRA & HH TTHIUN 31T 6T HRUT 82
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Options :

1. % FHadl

2. % Had Il

3. ¢ 1 AU Gl
4. % qGIIATRIII
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Question Number : 261 Question Id : 54062614750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following best explains the Cascading Effect of taxation?

I. When tax imposition leads to a disproportionate increase in prices by an extent more than the rise in the tax.
II. When tax imposition leads to a disproportionate decrease in prices by an extent more than the rise in the tax.

Options :

1. % Only I

2. % Only I

3. % BothIand II
4. % Neither I nor II

Question Number : 261 Question Id : 54062614750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FfIfEad & ¥ SIF HUY & TS THIT D I 33T SARSAT BT 82

[ 56 R @ I P A B gfa &1 a1 H T 8¢ ad 3HfI® gi it ol

I1. O1d R T O HIAa # B 8 g &1 ga-1 & Ud ge db 31w HH gl Sl g |
Options :

1. ¥ &had

2. % Had II

3. % [ QYT

4. % IGIIATR I

Question Number : 262 Question Id : 54062614751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GDP deflator is used to



Options :

1. ® measure the relative reduction in GDP growth rate of a country

2. ¥ measure the inflation in a country

3. # compare the GDP of a country vis- a- vis other countries of the world

4. ® estimate the purchasing power of the citizen of a country

Question Number : 262 Question Id : 54062614751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oL S P PTIUANT & for fpar Sirar |
Options :

1. % fodt q=r et St S1.Ut. faeh Y o= H A1t el bl AT
2. ¢ Tl =1 & it &1 A1

3. % Tl G o off. S1. Ot 1 garTl fay & e =il A e
4. % fHd! G/ P ANTRS DI o ok BT SHM TAY

Question Number : 263 Question Id : 54062614752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is a benefit of implementing Goods and Services Tax (GST) in India?

I. GST is expected to bring buoyancy to the Government Revenue by widening the tax base and improving the taxpayer compliance.
II. The removal of cascading of taxes and increased transparency will make the citizens more informed about the taxes they pay while purchasing
goods or services.

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. ® Neither I nor I

Question Number : 263 Question Id : 54062614752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
HRA H o] U4 a1 H (ST BT AN B A FT ATH g2
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Options :

1. % FHadl
2. % Had Il
3. ¢ 1 AU Gl
4. % qGIIATRIII

Question Number : 264 Question Id : 54062614753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does the term ‘Green shoots’ represent in an Economy?

I. Signs of economic recovery during an economy downturn
I1. Signs of growth of agriculture sector in a declining economy

Options :

1. % Only I

2. % Only I

3. % BothIand II
4. % Neither I nor II

Question Number : 264 Question Id : 54062614753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. ¥ Had I
2. % HAd I
3. % [QUT I gl
4. % 1B

Question Number : 265 Question Id : 54062614754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct regarding poverty measurement?

I. Head count ratio measures incidence of poverty.
II. Poverty gap index measures both incidence as well as severity of poverty.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 265 Question Id : 54062614754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e a9 & el # FuffRa A Y s aradi 82

1. §€ HI3C X! e & THH & Amar g |
1. FReaT SIeRTa Yaie fAeHar & UM ger iR kel gl &) AT g |

Options :

1. % Had |

2. % Had II

3. ¢ 1 AUT I A
4. % qEIIATR I

Question Number : 266 Question Id : 54062614755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is true?

I. Higher growth in GDP and population can occur together.
II. Per capita income always decreases with high population growth.

Options :

1. ¥ Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 266 Question Id : 54062614755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffed & 91 oF 3 BT 930 82
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Options :

1. Had I
2. % HAd Il
3. % [ QYT ISl
4. % qEIIATE I

Question Number : 267 Question Id : 54062614756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Price discrimination is said to be personal under which condition?
Options :

1. # When different prices are charged for different uses for a commodity
2. % When different prices are charged to different persons

3. ¥ When same prices are charged to different persons



4. % When different prices are charged for the same person

Question Number : 267 Question Id : 54062614756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tod Ve HTd &1 fog fRufa  safdarra Fet ofrar 82

Options :

1. % 79 fopeft avg & fafie SUaIl & fog S1eT-SienT Yoo avyd oiTd &
2. ¢ SIS 3{QTT-ATHT AT & S{eHT-3(elT Hed 9 STd &

3. % TG - Sl o THM oo al ol §

4. % 9 U gl Afad & foIY S-SR Yo 9 Id &

Question Number : 268 Question Id : 54062614757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the Cournot Duopoly model, Conjectural Variation (CV) of each firm is
Options :

1. ® less than zero

2. % more than one

3. % one

4. ¥ zero

Question Number : 268 Question Id : 54062614757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % I DY
2. % U I 3HidH
3. % Uh

4.¥ T3




Question Number : 269 Question Id : 54062614758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a monopolistic competition market structure
Options :

1. ® there is a single buyer

2. % the products are not different at all

3. ¥ there is free entry and exit

4. ® the size of the market is very small

Question Number : 269 Question Id : 54062614758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
THIIGR Uiyl ORI H |
Options :

1. % U% g @R BT g

2. % JUIC fSegpd SIeT 181 Bid &

3. ¢ faty vaw SR sfge A gar g

4. % GIOIR &1 HTHR 9gd BT 81T &

Question Number : 270 Question Id : 54062614759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following non-collusive oligopolistic model, one firm acts as the leader and the other as follower?
Options :

1. # Sticky Price Model

2. # Bertrand mode

3. % Stackelberg model

4. % Cournot model

Question Number : 270 Question Id : 54062614759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fraforRed @ 9 frg IR-Tgarh SreufieR Aisd H, T B dT & 0 H 3R gat Srarft & U & S $Hdl 82
Options :

1. % (Y diaqd disd

2. % gee Higd

3. ¢ WhHA AI8d

4. % Flc Higd

Question Number : 271 Question Id : 54062614760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following ways can be adopted by the monopolist to create entry barrier so that rivals cannot enter the industry, in the long run?
Options :

1. ¥ Product patent or process patent

2. % Charging high prices

3. ®# Maximising use of raw material

4. % Sharing exclusive rights to few products

Question Number : 271 Question Id : 54062614760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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0

Options :

1. ¢ 31 Ue a1 ufehar ude

2. % Gyall DHIFd Y

3. % o HTdd BT SHYHTH IUINT

4. % T IAMG] IR ORI SHABR 1= HRAT

Question Number : 272 Question Id : 54062614761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct regarding bilateral monopoly?

I. The market structure where there is a single seller and a single buyer for a product.
II. With bilateral monopoly the market price and output are indeterminate.
II1. The price and quantity of the product is decided by negotiation.

Options :

1. * Tand III

2. % Only II

3. % Tand II
4.+ 1, 11 and III

Question Number : 272 Question Id : 54062614761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fegai TR & TeH & FufiRad & @ &1 91 $y= I8l 22
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Options :

1. % 1gUTIII

2. % Had Il

3. % QYT

4.9 1 11U

Question Number : 273 Question Id : 54062614762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Bertrand model of duopoly, if a firm B sets its price as Pg and firm A sets its price as P, and C represents the marginal cost of each
firm, then under which condition firm A will be losing the market to firm B?

Options :



1. ¥ When P, is greater than Py and both are greater than C.
2. % When P, is smaller than Py and both are greater than C.
3. ®# When P, is greater than Pg and both are smaller than C.

4. % When P, is equal to Pg and both are smaller than C.

Question Number : 273 Question Id : 54062614762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f§-SIIPR & Tce Aled & YR, TG TH BH B U B Py b 9 H HuffRd Hclt § 3R B A 30t H1Hd p, & 9 H Fuffed
Il § SR C TS T Bt HHI ArTd &1 WaHTIa &l g, df fhd fRUfd & v A 1 B &1 SR @ &ifte

Options :

1.¥ S Py, Py U TSI B SR GHI C U TS T
2. % JIP,, Py ABICIE IR GHI C A TS B
3. % S P,, Py U TSI 3R aHI C A BIC
4. % S P,, Py & RIR gl AR Al C Y BIC 7|

Question Number : 274 Question Id : 54062614763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason (R).

Assertion (A): The long-run equilibrium for the perfectly competitive firm occurs at the minimum point of LAC.
Reason (R): In perfect competition, any new firm is free to set up production in the market if it wishes to, and any existing firm can leave the
industry.

In the context of the above two statements, which of the following is correct?
Options :

1. #® (A) is correct, but (R) is incorrect.

2. #® (A)is incorrect, but (R) is correct.

3. % Both (A) and (R) are correct and (R) explains (A).

4. ® Both (A) and (R) are incorrect.



Question Number : 274 Question Id : 54062614763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Io 1 FYF R TR | T BT 3HUHYF (A) 3R T DI HRUN(R) & ©Y | A9d [haT T 5|

SAFUFYT (A): Iof ufcreaedf v & fog idapreli= Sigad v, U . & gAaqd fig R el |
ngUT(R): gt wfoegeff & 1 off 78 ol afg =R o IR # Idte RiIfid w4 & forg Tadd § SR ®is o Hisiel B I 31S Iahdl
|

IR &1 HY & e #, Fafafea § I o a1 fase g8t 82
Options :

1. % (A) 98I g, dfdh (R) T B |

2. ® (A)TTOId 8, A (R) TS B

3. ¥ T (A) T (R) T&1 € 3R (R), (A) DI ARAT HRAT ¢ |

4. % (A) 3R (R) A T B

Question Number : 275 Question Id : 54062614764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Musgrave, the total social benefit is maximum, where the net social benefit is
Options :

1. % One

2. % Zero

3. ¥ Maximum

4. % Minimum

Question Number : 275 Question Id : 54062614764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TEIE & IR, Fdl IS AT SMfHad g, STl Y& JHToID arH gl

Options :



. % THh

2. ¥ I

3. % JfYHaH
4, % gAqq

Question Number : 276 Question Id : 54062614765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct regarding the voluntary exchange theory?

I. Resources should be allocated to the public sector in a manner analogous to that of the market and its pricing system.
II. Every individual should get the public good for free.

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 276 Question Id : 54062614765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ Had 1

2. % HAd I

3. % [ QYT ST

4, % G IAIBI

Question Number : 277 Question Id : 54062614766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is correct?

I. According to the unanimity rule, only those public goods on which there is complete agreement should be produced.
II. A voter externality cost, refers to the cost incurred by a voter who has voted against a fiscal choice which has been approved.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 277 Question Id : 54062614766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FHadl
2. % HAd II
3. ¢ QYT I gl
4. % 1B

Question Number : 278 Question Id : 54062614767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Direct and Indirect taxes may be compared with each other in respect of

I. Allocation of resources
I1. Distributional effects

Options :



1. % Only I

2. % Only II

3.4 BothIand II
4. ® Neither I nor II

Question Number : 278 Question Id : 54062614767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. [adRur gyTa
Options :
1. % Bhad |
2. % Had Il
3. ¢ [ AU Gl
4. % qEIIATE I

Question Number : 279 Question Id : 54062614768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a principle of public debt management?

I. The cost of servicing public debt should be the minimum.
I1. If the debt is redeemed by issuing new currency, it may create inflation.

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. # Neither I nor II

Question Number : 279 Question Id : 54062614768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % PHadl
2. % Had Il
3. QYU I gl
4. % 1B

Question Number : 280 Question Id : 54062614769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following tax is levied by a municipal corporation?

I. Property tax
II. Octroi and terminal tax

Options :

1. % Only I

2. % Only II

3.+ Both I and II
4. ¥ Neither I nor II

Question Number : 280 Question Id : 54062614769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. % PHad 1
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4. % 1B
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following dominant approach(es) is/are followed by the theories and practices of teaching — learning processes?

I. Behaviour Modification
II. Problem Solving

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 281 Question Id : 54062614770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Hadl
2. % Had I
3. QYT I gl
4. % GBI

Question Number : 282 Question Id : 54062614771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Learning of which of the following helps the child to perform different activities in their real life?

I. Mathematics
II. Science
II1. Social Science

Options :



1. # Il and III
2. % Tand II

3. % Tand III

4. % 1, Il and III

Question Number : 282 Question Id : 54062614771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # I dUTIII

2. % IdYUT

3. % 1dYTIII

4. 111 dYTIII

Question Number : 283 Question Id : 54062614772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not correct about Inclusive Education?
Options :

1. % Tt is all about effective learning by all the children

2. # Tt is based on social model of equality of opportunity

3. # It is about mounting the confidence among the children

4. ¥ Tt is about building external strength

Question Number : 283 Question Id : 54062614772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4.+ Jg TR Ufed & P IR A B

Question Number : 284 Question Id : 54062614773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If variety of materials are used, then any child would fully participate in the learning process. To satisfy the above statement which of the
following material(s) a teacher can use to support learning?

L. Visual materials in the form of pictures or photographs.
II. Tactual materials in the form of real objects. For example, using a real mango to explain its qualities.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 284 Question Id : 54062614773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g e TR &t Al &1 SUANT fhan ST &, ol Bis Hf S SiferTd ufohan & Ot ave ¥ HIFT T | STRIGd HUF &1 AP H3 & oY
s e Fyfoiad # 3 forg i @) &1 IuanT eds T &1 guda &R gohdi 82

1. FoHl o1 BIeh® & =0 8 2= el
1. IR aeg3ff & T9 H TRNGT=N Tt | 3aT6R01 & A, TH STa SHH BT SUINT 39D 0N B JH & [ HRAT|

Options :

1. % Bad |
2. % BHad 11
R AGLIIEGI




4. % BB

Question Number : 285 Question Id : 54062614774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How can a school modify the physical environment for the students?

I. The student who has difficulty seeing in bright light should be seated in a place where direct light is not falling on the face.
II. A student getting distracted easily must be given a place away from the corridor, window or door.

Options :

1. * Only I

2. % Only I

3.+ Both I and II
4. * Neither I nor II

Question Number : 285 Question Id : 54062614774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U faened S & fore Wi aTdTarur &l $8 FUidikd R Jahdl 82

. 59 B &I O AT H S B W Bt 7, 39 U ST doMT ey, Set et Azt A TS|
11 T & faaferd 819 ard 83 &1 e, Raga! a1 grars! ¥ gR S8 ¢ a1fgu|

Options :

1. % FHad |

2. % Had Il

3. ¢ 1 U Gl
4. % qEIIATR I

Question Number : 286 Question Id : 54062614775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the fundamental principle(s) of the visual art?



I. Perspective
II. Balance
III. Harmony
IV. Rhythm

Options :

1. # I, I and IV

2. % I, Il and IV

3. % I, Il and III

4. ¢ I, 11, Il and IV

Question Number : 286 Question Id : 54062614775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFraffa T A 1 9 T Hal » O Rigid 82

1. UReg

1. dde

111 I

IV. g

Options :

1. % LI daT v
2. % LI dUTIV
3. % [ 11 dYUT I

4. ¢ 111, T AUTIV

Question Number : 287 Question Id : 54062614776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By using different art materials as a means of expression, children should be encouraged to develop a sense of proportion, depth, light, shade and
tactile feeling. Which of the following is/are those art material(s)?

I. Pencil
II. Colour
II1. Adhesive



Options :

1. # T and III

2. # Il and III
3. [ Il and III
4, % Only II

Question Number : 287 Question Id : 54062614776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sffcafad & WeA & =0 H fafia Har Il &1 ST B, ol ®I ST, TeRTS, USRI, BT IUT TR HTGHT [dwmRId H-
& fore e e o =nfew | FRafefad & @ S-T a8 s arel/amfimi 2782

1. Ui
IL. 3
. e

Options :

1. # I'dUTII
2. % I dUTIII
3.9 1 I dUT 1T

4. % Had I

Question Number : 288 Question Id : 54062614777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Education should be and
Options :

1. #® continuous; restricted
2. ¥ continuous; comprehensive
3. #® comprehensive; discontinuous

4. # discontinuous; restricted

Question Number : 288 Question Id : 54062614777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fRram aul RRIEIHY
Options :

1. % gad; Uidsfed

2. ¥ qdd; JHY

3. ® JHY; A{dd

4. % 3rYdd,; Ufcrsiferd

Question Number : 289 Question Id : 54062614778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are not correct about Reading?

I. Reading is to be able to understand the text, follow its logic and its premises.
II. Reading is to be absorb meaning from the written information or symbols.

Options :

1. % Only I

2. % Only II

3. # BothIand II
4. ¢ Neither I nor II

Question Number : 289 Question Id : 54062614778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad § ¥ o I/ $Y9 Usd & IR H I8t T8l 8/8?

1. U3 UTS o1 JHSH & J&H BT 8, 3P dob dUT ISP URIR BT UTe HT g |
I1. U6 fIRad a1 a1 Ueitep! & o1 Tgur a1 5 |

Options :

1. % $had |

2. % Had I




3. % 1dUT I Sl
4. ATBIIATRII

Question Number : 290 Question Id : 54062614779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the major language abilities that a teacher may asses of the students?

I. Listening and speaking

II. Reading with comprehension
1. Writing

I'V. Expression

Options :

1. # II, IIl and IV
2. % Tand III

3. % Tand IV

4. % 1 11, IIT and IV

Question Number : 290 Question Id : 54062614779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BE! B/ FEfRad & S I U U HIRE 6T T FRI&H Mhe B Jahdl 82

1. AT AT ST

1. GghR JHAl
111, ferar

1V, 3fiefed
Options :

1% IL I dIT 1V
2. % TdYUTII

3. % IIdUTIV

4. ¢ LILIUTdYT IV



Question Number : 291 Question Id : 54062614780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The defining feature(s) of inclusion that can be used to identify high quality early childhood programs and services is/are

I. Access
I1. Participation
III. Supports

Options :

1. # OnlyI

2. % Only II

3. % Only I
4. % 1,11 and III

Question Number : 291 Question Id : 54062614780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THTART & TRUTIIG SHT&T forRiesT SUENT 3o TUTaT aTdl §aU- & BRIhH! aul JaTefl &t Ugd & o faran o 9 g, 28

1. 3R
1. g HTATdT
111 gadA
Options :

1. % BHad |
2. % BHad I
3. % Had I

4.« 1, I YT T

Question Number : 292 Question Id : 54062614781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the broad objective(s) of early childhood care and education programme?



I. Imbibe good nutrition routines, health habits, hygiene practices and self help skills.
II. Enable children for effective communication and foster both receptive and expressive language.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 292 Question Id : 54062614781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

il 3 9§ -9 SeuraRIT qd S@HTe quT RIa SrichH $1/% ous 3230 8/8?

1. 33 UuT feTeraf, Tarey geeh 3ed, TaesdT 3T dYT WU TeTadl B P I B |
IL. THTE TR & fofe o= &) Terd o8 auT TgUrid Ud SfNiSid HIST GIH) & dgrar ¢ |
Options :

1. % Hadl

2. % Had Il

3. ¢ 1 UGl

4. % GBI

Question Number : 293 Question Id : 54062614782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) shows the relation of mathematics with science?

I. Trigonometry helps in finding the height of a mountain.
I1. With the increase in air pressure, the boiling point of water also increases.

Options :

1. % Only I

2.¢ Only II

3. # BothIand II
4. #® Neither I nor II



Question Number : 293 Question Id : 54062614782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRad ® @ o9 918 By fagm & Iy i & Sy &) guidemid 2782

1. Poiufafa fdt udd ot Sars I1d A # Aee P 8 |
I1. ITGTE g I Ut &1 HYid W} 9 ST g
Options :

1. % FHad |
2. ¢ HAd Il
3. % [ QU1 gl
4. % qEIIATR I

Question Number : 294 Question Id : 54062614783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The problem solving ability of the learner is dependent on the acquisition of knowledge.
Options :

1. # social

2. % cultural

3. # historical

4. % mathematical

Question Number : 294 Question Id : 54062614783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rerfe vy eRa . IH S SRRu W R garg|
Options :

1. % IS

2. % GRPplddh

3. % UfdgTRys



4. ¢ TOTAT

Question Number : 295 Question Id : 54062614784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When children start learning English, by which of the following ways a teacher can present a new language orally to the children?

I. Through the children
II. Using a mascot
III. Puppets

Options :

1. * Only I

2. % Il and III
3. % Only II

4. 1,11 and III

Question Number : 295 Question Id : 54062614784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T S Sl T [ A &, < 11ef FofiRad & 9§ forg T 9 a7 &l Hife® © 0 I Th -5 TN UK B Gl 62

I §<d & H1emd 9

I 4R BT STINT PRSP
1.

Options :

1. % Bhad |

2. % [ITYUTII

3. % Had Il

4. 1 11 dYT 1T

Question Number : 296 Question Id : 54062614785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is/are the similarity(es) between social sciences and social studies?

L. Both are studied through pragmatic approach.
I1. Both seeks social utility.

Options :

1. % Only I

2. % Only IT

3. % BothIand II
4. ¢ Neither I nor II

Question Number : 296 Question Id : 54062614785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fRufeiRad & @ &9 I gmriore fagm dur g siera= & oid GHHAd/aEHEaE 2/82

L. SIFI T 37T Wifaare] SUNTH gRT fohd ST g
IL G AT ITAIars &) @i #3d g

Options :

1. % Hadl

2. % Had Il

3. % [T gl
4. IR

Question Number : 297 Question Id : 54062614786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following subject(s) comes under the semi social sciences branch of social sciences?

I. Philosophy
II. Psychology
II1. Ethics

Options :
1. # Iand III



2. % Only II
3. % Only I1I
4. 1,1 and 111

Question Number : 297 Question Id : 54062614786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafered & 3 o9 9/ favg g fogm @1 sief gt faxm rar & sidifd eirdnsnd 8782

1. G XA
1. FAIfOH
111 Afas

Options :

1. % [TUTII
2. % HAd Il
3. % had Il

4.« 1 11 dYTIII

Question Number : 298 Question Id : 54062614787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the advantages of Expository approach of teaching?
Options :

1. # Rote memorization is encouraged

2. # Students depend on teacher all the time

3. # There is no scope for the creativity of the students

4. ¥ Gestaltic view of the subject is presented to the students resulting into meaningful verbal learning

Question Number : 298 Question Id : 54062614787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & @ o a1 e & quiferes IUrTH &7y 82




Options :

1. % Y& & 3Med &I d¢ral fHadr g

2. * BE &R gAY g R AR I8 §

3. % BE &I YoHIHSG Al B AR Ta! faar g

4. favT P TReTfecd I BT & A TR foha SiTd § forads URumaRey e Hifads i giar g

Question Number : 299 Question Id : 54062614788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are not correct about environment studies?

L. It helps children develop a holistic understanding of their environment including socio-cultural environment.
II. It helps children in maintaining a multidisciplinary perspective to understanding of our environmental issues.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 299 Question Id : 54062614788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TTaRUT 3T & R H FafiEd § 4 19 91/ Sy I8 T8l 2782

1. T8 S B AHIh-TRp i Taiarul Gfed 30+ TUTeaRUl B GHUIHS JHY [AwRid @3 § Ae aidl |
1. 9% S &1 §HR GaaRvTg Gel &l IHeM & ol T 98 SR URed §91Y 3@ & A HRdl |

Options :

1. % Had 1
2. % Had I
3. % [QUTIgFl
4. TBIIATR I




Question Number : 300 Question Id : 54062614789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct?

L1+1=2;1+3=4;1+5=6;3+5=28... here 1, 3, 5 are odd numbers and the result of their addition i.e 2, 4, 6, 8 are even numbers’. This
statement represents Inductive Method.

I1. “While teaching about profit and loss in the class, a teacher announced the formula of profit percentage i.e {P percent = [P/CP] x 100}°. This
statement represents Deductive Method.

Options :

1. % Only I

2. % OnlyII

3. % Both I and I
4. ® Neither I nor II

Question Number : 300 Question Id : 54062614789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ o I/ U9 I8t 8/8?
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Options :

1. % Hadl

2. % Had Il

3. ¢ 1 AU Gl
4. % GBI



